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1111----    fgUnh Hkk’kk esa vuqokn djsa &fgUnh Hkk’kk esa vuqokn djsa &fgUnh Hkk’kk esa vuqokn djsa &fgUnh Hkk’kk esa vuqokn djsa &                                    [  2 x 4 = 8 ] 

 d½ ,rkS ckydkS      [k½ ,rs ds \ 
    ckydkS uer%         ,rs “kqdk%A “kqdk% onfUrA 
    fde~ ckydkS xk;r% \        ds onfUr\ “kqdk% onfUrAs 
    ufg] ckydkS u xk;r%] rkS uer% 

 x½ ,rkfu QykfuA     ?k½ ,’kk ikd”kkykA v/kquk 
    ,rr~ ukj³~xe~A          vEck ipfrA 
    ,rr~ lsoe~A         lk v/kquk lwie~ vksnua 
    ,rr~ ukfjdsye~        p ipfrA 
2222----    mnkgj.k ds vuqlkj opu ifjorZu dhft, &mnkgj.k ds vuqlkj opu ifjorZu dhft, &mnkgj.k ds vuqlkj opu ifjorZu dhft, &mnkgj.k ds vuqlkj opu ifjorZu dhft, &                            [ 1 x 4 = 4]    
    ,dopue~   f}opue~   cgqopue~ 
 mnkgj.k&Nk=% iBfrA   Nk=kS iBr%A   Nk=k% iBfUrA 
 d½   v”o% /kkofrA   -------------------------   ------------------------- 
 [k½    “kqd% onfrA   -------------------------   ------------------------- 
3333----    dks’Bd esa fdks’Bd esa fdks’Bd esa fdks’Bd esa fn, x, funsZ”kkuqlkj opu cnfy, &n, x, funsZ”kkuqlkj opu cnfy, &n, x, funsZ”kkuqlkj opu cnfy, &n, x, funsZ”kkuqlkj opu cnfy, &                            [1 x 4 = 4 ]    
 d½ ,rkfu pØkf.k ¼ ,dopus½ &-------------------------  [k½ ,rr~ deye~ ¼ cgqopus½&------------------------- 
 x½ ,rr~ iqLrde~ ¼ f}opus ½&-------------------------  ?k½ ,’k% o`{k% ¼ cgqopus ½&------------------------- 
4444----    iz”u fuekZ.k dhft, &iz”u fuekZ.k dhft, &iz”u fuekZ.k dhft, &iz”u fuekZ.k dhft, &                                        [1 x 2 = 2 ]    
 d½ l% i=okgde~ Ik”;frA ----------------------------------------------------------------------------------------------------¼ fde~]   de~ ½ 
 [k½ Roe~ x`ge~ Ik”;flA  ---------------------------------------------------------------------------------------------------- ¼ fde~ ]  de~ ½ 
5555----    dks’Bd esa fn, x, mfpr fØ;kin pqudj okD; dh iwfrZ dhft, &dks’Bd esa fn, x, mfpr fØ;kin pqudj okD; dh iwfrZ dhft, &dks’Bd esa fn, x, mfpr fØ;kin pqudj okD; dh iwfrZ dhft, &dks’Bd esa fn, x, mfpr fØ;kin pqudj okD; dh iwfrZ dhft, &                [0.5 x 4 = 2 ]    
 d½ Hkzejk% -----------------A ¼HkzefUr ] xq¥tfUr]  uUnfUr½    [k½ iou% -----------------A  ¼irfr]  xPNfr]   ogfr½ 
 x½ tuk% -----------------A  ¼ØhMfUr]  dwtfUr]  HkzefUr½    ?k½ iq’ie~ -----------------A  ¼fodlfUr]  fodlfr]  fodlr%½ 
6666----    fuEufyf[kr “kCnksa ds uke laLd`r esa fy[ksa &fuEufyf[kr “kCnksa ds uke laLd`r esa fy[ksa &fuEufyf[kr “kCnksa ds uke laLd`r esa fy[ksa &fuEufyf[kr “kCnksa ds uke laLd`r esa fy[ksa &                            [0.5 x 6 = 3]    
    d½ vaxwj &------------------------- [k½ ve:n &------------------------- x½ xqykc &------------------------- 
 ?k½ gkjflaxkj&------------------------- ³½ gkFkh &------------------------- p½ ?kksM+k &------------------------- 
7777----    fuEufyf[kr fjDr LFkkuksa dh iwfrZ dks’Bd esa fn, x, vadksa ds laLd`r “kCn lsfuEufyf[kr fjDr LFkkuksa dh iwfrZ dks’Bd esa fn, x, vadksa ds laLd`r “kCn lsfuEufyf[kr fjDr LFkkuksa dh iwfrZ dks’Bd esa fn, x, vadksa ds laLd`r “kCn lsfuEufyf[kr fjDr LFkkuksa dh iwfrZ dks’Bd esa fn, x, vadksa ds laLd`r “kCn ls    dhft, &dhft, &dhft, &dhft, &    [1 x 4 = 4 ]    
 d½ ---------------------- ekyk irfrA ¼ 1 ½  [k½ r= ---------------------- lk/ko% lfUrA ¼ 7 ½ 
 x½ ---------------------- i=kf.k irfUrA ¼ 9 ½  ?k½ ---------------------- efgyk% vkxPNfUrA ¼ 3 ½ 
8888----    fuEufyf[kr fjDr LFkkuksa dh iwfrZ dks’BfuEufyf[kr fjDr LFkkuksa dh iwfrZ dks’BfuEufyf[kr fjDr LFkkuksa dh iwfrZ dks’BfuEufyf[kr fjDr LFkkuksa dh iwfrZ dks’Bd esa fn, x, vadksa ds laLd`r “kCn ls dhft, &d esa fn, x, vadksa ds laLd`r “kCn ls dhft, &d esa fn, x, vadksa ds laLd`r “kCn ls dhft, &d esa fn, x, vadksa ds laLd`r “kCn ls dhft, &    [1 x 2 = 2 ]    
 d½ ---------------------- ¼18½ lw;kZ%  [k½ ----------------------¼4½ efgyk% 
9999----    “kCn:Ika fy[kr &“kCn:Ika fy[kr &“kCn:Ika fy[kr &“kCn:Ika fy[kr &                                        [1 x 5 = 5 ]    
    Ykrk & prqFkhZ ls lEcks/ku foHkfDr rdA 
10101010----    /kkrq :ia fy[kr &/kkrq :ia fy[kr &/kkrq :ia fy[kr &/kkrq :ia fy[kr &                                        [ 3 x 2 = 6 ]    
    d½ ue~ & yV~ ydkj    [k½ ik & y`V~ ydkj 
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1. Define the following:          [1 x 8 = 8 ] 

 a) urbanization b) relief comps c) drip irrigation d) heritage trains 

 e) metro  f) destitute  g) racist policy h) decibels 

2. Answer the following questions in detail:       [ 3 x 7 = 21] 

a) How were Moderates different from Extremists? 
b) What were the results of Sepoy Mutiny? 
c) What is transportation? ‘India uses the water ways to Export and Import?’ Explain. 
d) What is a cyclone? What precautions should we take for it? 
e) What is soil pollution? How can this be prevented? 
f) What is Quit India movement and what was the outcome of this movement ? 
g) Why were farmers and weavers unhappy with the British? 

3. Answer the following in short:         [1.5 x 6 = 9] 

a) Why did people consider M.S. Subbulakshmi as the Queen of Carnatic Music? 
b) When was Rowlatt Act passed by the British and what was it? 
c) List the human activities that contribute to water pollution. 
d) List three factors that cause air pollution. 
e) What was Swadeshi Movement? 
f) Who built the oldest Grand Trunk Road and Which places are connected by this road? 

4. Answer the following questions:         [ 1 x 12 = 12 ] 

a) Who designed the first steam engine and whose engine became popular? 
b) Who was Subramanya Bharati and how did he die? 
c) Who honoured C.V. Raman with the title ‘Sir’ which institute was founded by him? 
d) What is Tsunami? 
e) Who is known as the Grand Old Man of India? 
f) Why was the Simon Commission set up? 
g) Name the last two European Nations which came to India for trade. 
h) Between whom was the Battle of Plassey fought? 
i) Who were revolutionaries? 
j) What was the immediate cause for the Revolt of 1857 ? 
k) Name the two rivers that are used as Internal water ways in India. 
l) What is Golden Quadrilateral? 

5. Fill in the blanks:           [0.5 x 10 = 5] 

a) The collection of songs by Rabindranath Tagore is known as _____________. 

b) Gandhiji started the Civil Disobedience movement in _____________. 

c) _____________ asked the Indians to come together and stand as one nation. 

d) _____________ won the elections in 1935. 

e) India has the largest railway network in _____________. 
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f) The worst affected people during a drought are the _____________. 

g) The place where the earth quake originates is called _____________. 

h) Rapid growth of industries is known as _____________. 

i) Farmers should avoid using of _____________. 

j) The 1st president of INC was _____________. 

6.  Name the following:          [1 x 10 = 10] 

a) The instrument that records tremor. 
b) Sudden great misfortune. 
c) An important sea port in Andhra Pradesh . 
d) She led the Revolt of 1857 from Lucknow. 
e) He abolished Sati Pratha from the society. 
f) The industry that was affected because of the British economic policies. 
g) The Roman God of Fire. 
h) The pollution that results in stress and irritation. 
i) He led the famous Vedaranyam Salt Satyagraha. 
j) He formed Indian National Army. 

7.  Write ‘True’ or ‘False’:          [0.5 x 10 = 5 ] 

a) The fastest and the most expensive means of transport is Airways. 
b) The potter’s wheel was first discovered by Americans. 
c) Gitanjali was published in 1910. 
d) Dr. Muthulakshmi Reddy started the cancer institute in Adyar. 
e) The last Mughal Emperor was Akbar. 
f) The intensity of an earthquake is measured in Ritcher scale. 
g) Air pollution is caused by both nature and human activities. 
h) Volcano is an opening on the crust of earth. 
i) Water pollution affects marine life. 
j) Baba Amte was born in 1914. 

8. Match the following events with their years:       [0.5 x 10 = 5 ] 

 a) Gujarat earthquake       1853 
 b) Quit India Movement      2001 

c) British introduced the railways in      1942 
d) Wright brothers invented and built the first aeroplane  1757 
e) East India Company       1903 
f) Battle of Plassey       1600 
g) Simon Commission came to India     1919 
h) Cabinet mission was sent to India in    1929 
i) Jalianwala Bagh Massacre      1861 
j) Rabindranath Tagore was born in      1946 

9. Complete the following table :         [0.5 x 10 = 5 ] 

Name Any one Award In which field 
1. Bhimsen Joshi   
2. Baba Amte   
3. M.S. Subbulakshmi   
4. Sir C.V. Raman   
5. Rabindranath Tagore   
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[k.M &d[k.M &d[k.M &d[k.M &d    
1111----    vifBr x|ka”kvifBr x|ka”kvifBr x|ka”kvifBr x|ka”k    
    pyuk euq’; dk LoHkko gSA ikuh Hkh pyrk gS] gok Hkh pyrh gS] le; Hkh pyrk gS vkSj euq’; Hkh pyrk gSA 
izkphu le; esa ,d LFkku ls nwljs LFkku ij igq¡pus ds fy, euq’; ehyksa iSny ;k=k djrk FkkA dbZ ckj ;k=k bruh 
yach gks tkrh Fkh fd o’kksZa yx tkrs FksA ,d LFkku ls nwljs LFkku esa tkrs le; ;k=h nwjh ds dkj.k chekj gksdj ej Hkh 
tkrs FksA fQj ikyfd;ksa dk iz;ksx fd;k tkus yxkA bUgsa pkj yksx mBkrs FksA ikyfd;ksa dk iz;ksx fL=;ksa ds fy, fd;k 
tkrk Fkk] ijUrq ifg, ds vkfo’dkj us euq’; dk thou gh cny fn;kA blds vkfo’dkj ls loZizFke cSyxkM+h }kjk ;k=k 
ljy vkSj lLrh gksus yxhA /khjs&/khjs blh ifg, ls lkbfdy vkSj ckn esa e”khu ls pyus okyh xkfM+;k¡ lM+dksa ij 
nkSM+us yxhA 
mi;qZDr x|ka”mi;qZDr x|ka”mi;qZDr x|ka”mi;qZDr x|ka”k dks i<+dj fn, x, iz”uksa ds mÙkj fy[ksa &k dks i<+dj fn, x, iz”uksa ds mÙkj fy[ksa &k dks i<+dj fn, x, iz”uksa ds mÙkj fy[ksa &k dks i<+dj fn, x, iz”uksa ds mÙkj fy[ksa &                        [ 1 x 5 = 5 ]    
 d½ izkphu le; esa euq’; dSls ;k=k djrk Fkk \ 
 [k½ ikyfd;ksa dk iz;ksx fduds fy, fd;k tkrk Fkk \ 
 x½ ikydh fdrus yksx mBkrs Fks \ 
 ?k½ ifg, ds vkfo’dkj ds ckn loZizFke ;k=k djus ds fy, fdl lk/ku dk fuekZ.k gqvk \ 
 ³½ x|ka”k ds fy, mfpr “kh’kZd Nk¡fV, & 
  i) yach ;k=k  ii) ifg, dk vkfo’kdkj  iii) iSny  iv) ?kksM+k xkM+h 

[k.M&[k[k.M&[k[k.M&[k[k.M&[k    

2222----    fØ;k dh ifjHkk’kk fy[kdj mlds Hksnksa dk vUrj mnkgj.k ds lkFk fy[ksa AfØ;k dh ifjHkk’kk fy[kdj mlds Hksnksa dk vUrj mnkgj.k ds lkFk fy[ksa AfØ;k dh ifjHkk’kk fy[kdj mlds Hksnksa dk vUrj mnkgj.k ds lkFk fy[ksa AfØ;k dh ifjHkk’kk fy[kdj mlds Hksnksa dk vUrj mnkgj.k ds lkFk fy[ksa A                [ 1 x 4 = 4 ]    

3333----    funsZ”kkuqlkj iz”uksa ds mfunsZ”kkuqlkj iz”uksa ds mfunsZ”kkuqlkj iz”uksa ds mfunsZ”kkuqlkj iz”uksa ds mÙkj nsa &Ùkj nsa &Ùkj nsa &Ùkj nsa &                                    [ 3 x 5 = 15]    
        d½ la[;kokpd fo”ks’k.k rFkk ifjek.kokpd fo”ks’k.k esa D;k vUrj gS \ mnkgj.k lfgr fy[ksaA 
 [k½  mn~ns”; vkSj fo/ks; fdls dgrs gSa\ mnkgj.k lfgr fy[ksaA 
 x½  fn, x, izR;sd “kCnksa ds nks&nks Ik;kZ;okph “kCn fyf[k, & 
  i) dey  ii) fdj.k  iii) vuqie 
 ?k½  Ukhps fy[ks “kCnksa ds vusdkFkZd “kCn fyf[k, & 
  i) Qy   ii) lky  iii) rhj 
 ³½ fn, x, eqgkojksa ds vFkZ fyf[k, & 

i) vius iSjksa ij [kM+k gksuk & 
ii) vk¡[ks fcNkuk 
iii) vDy dk nq”eu 

4444----    dkydkydkydky    ds Hksnksa ds lgh uke fy[kdj okD;ksa dks iwjk djsa &ds Hksnksa ds lgh uke fy[kdj okD;ksa dks iwjk djsa &ds Hksnksa ds lgh uke fy[kdj okD;ksa dks iwjk djsa &ds Hksnksa ds lgh uke fy[kdj okD;ksa dks iwjk djsa &                        [ 1 x 2 = 2 ]    
 d½ tc fØ;k gks pqdh gks rks -------------------------------------- dky dgykrk gSA 
 [k½ tc fØ;k gks jgh gks rks -------------------------------------- dky dgykrk gSA 

5555----    fn, x, fojke ffn, x, fojke ffn, x, fojke ffn, x, fojke fpg~uksa ds uke ds vkxs mfpr fpg~uksa dks yxk,¡ &pg~uksa ds uke ds vkxs mfpr fpg~uksa dks yxk,¡ &pg~uksa ds uke ds vkxs mfpr fpg~uksa dks yxk,¡ &pg~uksa ds uke ds vkxs mfpr fpg~uksa dks yxk,¡ &                    [0.5 x 4 = 2]    
 ¼mÙkj iqfLrdk esa uke rFkk muds fpg~u nksuksa dks vo”; fy[ksa ½ 
 d½ yk?ko fpg~u &--------------------------------------    [k½ v)Zfojke &-------------------------------------- 
 x½ m)j.k fpg~u &--------------------------------------    ?k½ =qfV fpg~u &-------------------------------------- 

6666----    fn, x, “kCnksa ds foykse “kCn fy[ksa &fn, x, “kCnksa ds foykse “kCn fy[ksa &fn, x, “kCnksa ds foykse “kCn fy[ksa &fn, x, “kCnksa ds foykse “kCn fy[ksa &                                [ 1 x 2 = 2 ] 
 d½ tM+ &--------------------------------------     [k½ voufr &-------------------------------------- 

P.T.O. 
    
    
    
    
    
    
    
    
    
    
    
    
    



[k.M& x[k.M& x[k.M& x[k.M& x    
7777----    fn, x, iz”uksa ds nh?kZ mÙkj fy[ksa &fn, x, iz”uksa ds nh?kZ mÙkj fy[ksa &fn, x, iz”uksa ds nh?kZ mÙkj fy[ksa &fn, x, iz”uksa ds nh?kZ mÙkj fy[ksa &                                    [ 2 x 4 = 8 ]    
    d½ vejukFk dh xqQ+k vUkns[kh D;ksa jg xbZ \ 
 [k½ xk¡/kh th ds fopkj ls L=h dks Hkh D;ksa f”kf{kr gksuk pkfg, \ 
 x½ gsysu dsyj ds fo”o Hkze.k dk D;k mn~ns”; Fkk \ 
 ?k½ xk¡/kh th us firk th dks i= D;ksa fy[kk \ 

8888----    fn, x, iz”uksa ds ,d okD; esa ;k y?kq mÙkj fy[ksa &fn, x, iz”uksa ds ,d okD; esa ;k y?kq mÙkj fy[ksa &fn, x, iz”uksa ds ,d okD; esa ;k y?kq mÙkj fy[ksa &fn, x, iz”uksa ds ,d okD; esa ;k y?kq mÙkj fy[ksa &                        [ 1 x 6 = 6 ]    
 d½ e/kqj opu ls D;k feV tkrk gS \ 
 [k½ firkth dh KkuHkjh ckrksa dk ysf[kdk ij D;k izHkko iM+k \ 
 x½ eVk;u fdruh Å¡pkbZ ij fLFkr Fkk \ 
 ?k½ gsysu dsyj dh igyh f”kf{kdk dkSu Fkh \ 
 ³½ *lfjrk dk ty* dfork ds ek/;e ls dfo gesa D;k lans”k nsuk pkgrs gSa \ 
 p½ cM+s gksus ij xk¡/kh th dh flxjsV ds izfr D;k /kkj.kk cuh \ 

9999----    ,d “kCn esa mÙkj fy[ksa &,d “kCn esa mÙkj fy[ksa &,d “kCn esa mÙkj fy[ksa &,d “kCn esa mÙkj fy[ksa &                                        [ 1 x 5 = 5 ]    
 d½ jkLRkk fn[kkus ds fy, usg: th vkSj muds lkfFk;ksa ds lkFk dkSu Fkk \ 
 [k½ unh fdldk ân; /kksrh gS \ 
 x½ dVq opu D;k gS \ 
 ?k½ fdl “kCn us gsysu ds Kkup{kq [kksy fn, \ 
 ³½ xk¡/kh th ds HkkbZ us fdrus #i;s dk dtkZ fy;k Fkk \ 

10101010----    fn, x, “kCnksa ds vFkZ fyf[k, &fn, x, “kCnksa ds vFkZ fyf[k, &fn, x, “kCnksa ds vFkZ fyf[k, &fn, x, “kCnksa ds vFkZ fyf[k, &                                    [ 1 x 4 = 4 ]    
 d½ Dys”k  [k½ ftthfo’kk  x½ rT+kqckZ  ?k½ ifjg# 

11111111----    dfork dh iafDr;k¡ iwjh djsa &dfork dh iafDr;k¡ iwjh djsa &dfork dh iafDr;k¡ iwjh djsa &dfork dh iafDr;k¡ iwjh djsa &                                    [ 1 x 4 = 4 ]    
    fgefxfj ds fge --------------------------------------] 
 -------------------------------------- fge dk ty! 
 dj&dj fuukn --------------------------------------] 
 -------------------------------------- uhps iy&iyA 

12121212----    fjDr LFkkuksa dh iwfrZ djsa &fjDr LFkkuksa dh iwfrZ djsa &fjDr LFkkuksa dh iwfrZ djsa &fjDr LFkkuksa dh iwfrZ djsa &                                        [1 x 4 = 4 ]    
 d½ la;qDr jkT; vesfjdk ds ,d NksVs ls “kgj -------------------------------------- esa gsysu dsyj dk tUe gqvkA 
 [k½ ikB *xk¡/kh th dh izfrKk* xk¡/kh th dh -------------------------------------- dk va”k gSA 
 x½ usg: th -------------------------------------- ?kkVh dh l¡djh rg ds Åij p<+rs pys x, ftlds nksuksa vksj igkM+ FksA 
 ?k½ fon~;k vH;kl ls c<+rh gS vkSj Kku -------------------------------------- ls c<+rk gSA 

13131313----    fn, x, nksgs dk HkkokFkZ fyf[k, &fn, x, nksgs dk HkkokFkZ fyf[k, &fn, x, nksgs dk HkkokFkZ fyf[k, &fn, x, nksgs dk HkkokFkZ fyf[k, &                                    [3 x 1 = 3 ] 
  Ckksyh ,d veksy gS] tks dksbZ cksyS tkfuA 
  fg; rjktw rkSfyds] rc eq[k ckgj vkfuAA 
14141414----    fn, x, “kCnksa ls okD; cuk,¡ &fn, x, “kCnksa ls okD; cuk,¡ &fn, x, “kCnksa ls okD; cuk,¡ &fn, x, “kCnksa ls okD; cuk,¡ &                                    [1 x 2 = 2 ]    
 d½ ekuksuqdwy    [k½ izfrHkk 

15151515----    fn, x, “kCnksa esa *vkbZ* izR;; tksM+dj Hkkookpd laKk cukb, &fn, x, “kCnksa esa *vkbZ* izR;; tksM+dj Hkkookpd laKk cukb, &fn, x, “kCnksa esa *vkbZ* izR;; tksM+dj Hkkookpd laKk cukb, &fn, x, “kCnksa esa *vkbZ* izR;; tksM+dj Hkkookpd laKk cukb, &                    [1 x 2 = 2 ]    
 d½ cquuk    [k½ i<+uk 

16161616----    ewY;ijd iz”u &ewY;ijd iz”u &ewY;ijd iz”u &ewY;ijd iz”u &                                            [2 x 1 = 2 ]    
vki fo|ky; dh vksj ls cl ls fidfud ds fy, tk jgs gSa muesa dqN cPps fpIl vkSj pkWdysV [kkdj muds 
iSdsV vkSj dkxt lM+d ij Qsad jgs gSaA LoPN Hkkjr vfHk;ku dks /;ku esa j[krs gq, vki mUgsa D;k lykg nsaxsA 
nks okD;ksa esa fy[ksaA 

[k.M&?k[k.M&?k[k.M&?k[k.M&?k    

17171717----    eqgYys esa ty ls mRiUu ladV gsrq uxj fuxe dks i= fy[ksaAeqgYys esa ty ls mRiUu ladV gsrq uxj fuxe dks i= fy[ksaAeqgYys esa ty ls mRiUu ladV gsrq uxj fuxe dks i= fy[ksaAeqgYys esa ty ls mRiUu ladV gsrq uxj fuxe dks i= fy[ksaA                    [1 x 5 = 5 ]    

18181818----    uhps fn, x, fo’k;ksauhps fn, x, fo’k;ksauhps fn, x, fo’k;ksauhps fn, x, fo’k;ksa    esa ls fdlh ,d ij vuqPNsn fy[ksa &esa ls fdlh ,d ij vuqPNsn fy[ksa &esa ls fdlh ,d ij vuqPNsn fy[ksa &esa ls fdlh ,d ij vuqPNsn fy[ksa &                        [1 x 5 = 5 ] 
 d½ le; dk egRo  ;k  [k½ _rqvksa dk jktk olar 
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Section – A ( Reading – 10 marks) 
1.  Read the given passage carefully and answer the questions that follow: 
 Platinum is a rare but amazing silver-white metal that is even more precious than gold. Its name is derived from 
the Spanish word Plata, which means little silver. Platinum was first discovered in South America in the 18th century. 
Since its properties had not been properly studied, it was supposed to be a useless substance and was sold quite cheap. But 
as people discovered how useful it could be, its price went up. A 30-cm platinum cube can fetch several millions of 
pounds. (Para – 1) 
 Platinum ore is often mixed with palladium, rhodium, iridium and osmium, which are called platinum metals. 
Sometimes, such metals as gold, copper, silver, iron, etc. are also found mixed in the platinum ore. Some properties of 
platinum are really unique. It is one of the hardest metals. But it can be shaped and worked in almost every possible way. 
It is very pliable, which means it can easily bend without breaking or cracking. It can be drawn into fine wire; it can also 
be hammered into thin sheets. It is very heavy, almost twice as heavy as lead and about 21 times as heavy as water. Since 
it has a very high melting point 1772°C  it can resist very high intensity heat. Strong acids that dissolve most other metals 
have no effect on platinum. It neither corrodes nor rusts easily. (Para – 2) 

 Platinum is used for exact measurement of high temperatures and for making fuses for delicate electrical 
instruments. In laboratories, it is sometimes used as a container. Motor vehicle manufacturers use it to convert some 
polluting substances into non-pollutants. Since platinum is an ideal substance for gem-setting, its main use continues to be 
in jewellery. (Para – 3) 

A. Give the following information about platinum:       [0.5 x 4 = 2] 
 a) The colour of platinum -_______  b) The Spanish word from which its name is derived –_______ 
 c) The place where it was discovered -_______ d) The melting point of platinum –_______ 
B. Find words from the passage which mean the following:      [ 0.5 x 2 = 1] 
 a) unusual and special - ______________ ( Para – 2) 
 b) to be slowly damaged by rain or water ( used in context of metals) - ______________ ( Para – 2) 
C. Complete the following sentence:         [ 1 x 1 = 1 ] 
 Platinum is used in jewellery because - ______________ ( Para – 3) 
D. Mention any two platinum metals mixed in the platinum ore.  ( Para – 2)     [ 1 x 1 = 1 ] 
 
2. Read the given poem carefully and answer the questions that follow: 

Freedom is the right to do 

Anything that pleases you, 

As long as you keep in sight 

That others also have a right. [Stanza – 1 ] 

Have you right to kill a cat? 

Oh no! It’s wrong, just consider that 

The cat has the right to live like you 

A right of eating and drinking too! [Stanza – 2 ] 

So remember that it’s certainly wrong 

To deprive a nightingale its song 

To cheat the poor people, as rich men do 

To rob the innocent, as robbers do [Stanza – 3 ] 

To injure someone to win a race 

To despise some and others embrace  

To disobey every order and rule 

And drown a swimmer in the pool [Stanza – 4 ] 

And shout and scream like a fool 

Disrespecting the teachers in the school. 

So never forget that although you are free, 

You should think of others, not only ‘ME’ 

           [Stanza–5] 

A. Give the antonyms of the following:        [ 0.5 x 4 = 2 ] 
a) freedom -_______  b) remember - _______  c) disobey-_______   d) fool-_______ 

B. How are the rights of a cat similar to ours? ( Stanza – 2)      [ 1 ] 
C. What similarity has the poet pointed out between rich men and robbers? ( Stanza – 3)   [ 1 ] 
D. Mention the two most important lines that sum up the theme of the poem.    [ 1 ] 

Section – B ( Writing – 10 marks) 
3. Diary Entry:                  [5 ] 

a) Imagine you won the first prize in a painting competition organised in your school. The topic was  
  ‘Make My City Green’. Write a diary entry and express your feelings. You may also express the  
    reaction of your friends, your class teacher and your parents. 

Or  
b) Imagine you went on an excursion with your teachers and friends from your school to a hill station.  
     Express your observations, ideas and thoughts as well as details of the first day of your trip. 

4. Letter Writing:                 [5 ] 
a) You are Amrit / Amrita of Std. V-A, Kendriya Vidyalaya, Barakhamba Road, Delhi; residing at 12/24,  
     Karol Bagh, Delhi. Write a letter to the Principal of your school, asking him to excuse you from  
      attending the school assembly. ( Give a valid reason for the same) 
       OR 
b) You are Amrit / Amrita residing at 12/24, Karol Bagh, Delhi. Laying stress upon the importance of trees 
towards the ecological balance of our planet, write a letter of complaint to the Editor of ‘The Times of India’, 
Delhi; about the frequent cutting down of trees in your neighbourhood. 

P.T.O. 
 
 



Section – C ( Grammar – 30 marks) 

5. Fill in the blanks using the tenses of the verbs indicated in the brackets:    [ 1 x 10 = 10] 
a) Snow ________ on the mountains. ( fall – present tense) 
b) This hotel ________ only vegetarian food. ( serve – present tense) 
c) Last week Ravi ________ his leg in an accident. ( hurt – past tense) 
d) Yesterday I ________ to watch a movie. ( go – past tense) 
e) I ________ you tomorrow. ( see – future tense) 
f) My parents ________ Paris next month. ( visit – future tense) 
g) They _______  their luggage. ( pack – present continuous tense) 
h) Today I ________ a cap, because I have a cold. ( wear – present continuous tense) 
i) They ________ their last song, when we reached the theatre. ( sing – past continuous tense) 
j) I did not disturb him because he ________ a letter. ( write – past continuous tense) 

6. Pick out the verbs from the following sentences and state their tenses:    [ 1 x 4 = 4 ] 
a) It rains heavily in July and August.  b) All the trains on this route were late. 
c) The Principal will address the students. d) The nurse has brought the first-aid box. 

7. Join each pair of sentences using suitable conjunctions and rewrite them:    [ 1 x 4 = 4 ] 
 a) The driver applied the brakes. The truck stopped. 
 b) I approached all my friends. Nobody helped me. 
 c) Carry the jug carefully. You will spill the water. 
 d) Puneet is very sad. He has lost his book. 

8. Fill in the blanks with suitable prepositions:       [0.5 x 8 = 4 ] 
 a) The news bulletin starts ________ 09:00 p.m.   b) The thief jumped ________ the well. 
 c) The aeroplane was flying ________ the clouds.  d) She is ashamed ________ her failure. 
 e) Agra is famous ________ its historical monuments.  f) Do all of us agree ________ this point? 
 g) Distribute the toffees ________ the students.   h) What is the time ________ your watch? 
9. Select words from the brackets to fill in the blanks:       [ 0.5 x 8 = 4] 

a) ________ house is small but comfortable. ( There / Their) 
b) I want to know ________ my answer was correct. ( whether / weather) 
c) Gandhiji always followed noble ________. ( principals / principles) 
d) We must ________ our nails regularly. ( pare / pair) 
e) Trains running on this ________ are often late. ( root / route) 
f) Just one ________ of this medicine cured my headache. ( dose / doze) 
g) My father took a ________ from the bank to buy a new car. ( lone / loan) 
h) Jharkhand is rich in iron ________. ( ore / oar) 

10. Write antonyms of the following words using suitable prefixes:     [0.5 x 4 = 2] 
 a) responsible-_______  b) tidy -_______ c) pure -_______ d) honest -_______ 

11. Write the synonyms of the following words:       [0.5 x 4 = 2] 
 a) deceive -_______  b) faithful-_______ c) rich-_______  d) haste -_______ 

Section – D ( Literature – 30 marks) 
12. Answer the following questions:         [ 3 x 4 = 12] 
 a) Why did the farmer think that the school master could turn a donkey into a man? 
 b) In the poem ‘Polite Children’, who forgot the oven and why did she forget it? 
 c) What did Malcolm really bring to class? Give reasons for your answer. 
 d) What was strange about Miss Honey’s front door and why did Matilda think that something strange  
                 was going on in Miss Honey’s house? 
 

13. Reference to context:          [ 2 x 5 =10] 
a) “Do not tell a single human being!” 

   i) Who says this to whom?   ii) What is the person not supposed to tell? 
b) “I want you to turn the Chief Judge back into my donkey.” 
   i) Who says this to whom?    

              ii) Why does the speaker say this? Does the Chief Judge turn into a donkey? 
c) “It’s over by the door.” 

  i) Who says this to whom?           ii) What is the speaker talking about? 
d) “Of course your Majesty at once.” 
   i) Who says this to whom?           ii) What has the speaker been ordered to do and why? 
e) “Woman your are sad! ’Tis  the same with me.” 

  i) Why was the old woman talking to herself?                     ii) Where did the poet meet the old woman? 

14. Write the meanings of the following words:       [ 1 x 5 = 5 ] 
a) grime -_______   b) conkers-_______   c) flourish-_______  

d) snickering-_______   e) barber -_______ 

15. Make sentences with the following words:        [ 1 x 3 = 3 ] 
 a) customer -_______   b) mystery -_______   c) wedding -_______ 
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1. Define:            [ 2 x 4 = 8 ] 

 a) Fossil    b) Molecules   

c) Opaque    d) Machine 

2. Answer in short:           [ 2 x 5 = 10 ] 

a) How is soil formed? 
b) What is meant by the density of a substance? 
c) Why is the ozone layer important?  
d) What is magma? 
e) What is an inclined plane? Give examples. 

3. Answer in detail:           [ 3 x 5 = 15] 

a) Explain the occurrence of ‘Lunar’ Eclipse. 
b) How does a pulley make our work easier? 
c) List the three types of volcanoes. Explain each. 
d) Who carries out relief and rescue operations? When a natural disaster occurs? 
e) Describe three ways to be adopted to protect the environment. 

4. Differentiate between:          [ 2 x 2 = 4] 

 a) Flood and drought    b) Basalt and shale 

5. Give reasons:           [ 2 x 3 = 6] 

a) Why sound can not be heard on the moon? 
b) Cooking utensils are made of metals. 
c) Sedimentary rocks are easy to identify. 

6. Name them:           [ 1 x 8 = 8 ] 

a) Time taken by the moon for one rotation: 
b) Region beyond the atmosphere: 
c) A wheel mounted rigidly on an axle: 
d) The vertical funnel like opening in a volcano: 
e) The big pits on the surface of the moon: 
f) A strong wall built along a river to prevent floods: 
g) A point corresponding to the focus on the Earth’s surface: 
h) A rock that can float: 

7.  Fill in the blanks:           [ 1 x 8 = 8 ] 

a) An axe is an example of a __________. 
b) INSAT __________ is a communication satellite. 
c) Cellophane paper is the example of a __________ object. 
d) The gravitational pull of the moon causes __________ on the earth. 
e) __________ and __________ are solids which can be made to flow easily. 
f) Various kinds of __________ and __________ are grown as cover crops. 

               P.T.O. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 



8. Complete the series:          [ 1 x 6 = 6] 

 a) Metallic mineral : Calcite  : : Non-Metallic mineral  : __________ 
 b) The hardest known solid : __________ : : The softest known solid : Talc 
 c) Clay    : Plasticity    : : Rubber band : __________ 
 d) Instrument : Seismograph   : :  Scale : __________ 
 e) Igneous rock : __________  : : Metamorphic rock : Marble 
 f) Planting trees : Afforestation  : : Cutting trees : __________ 

9. Write ‘True’ or ‘False’ for the following statements:      [0.5 x 6 = 3] 

a) A meteorite is a naturally occurring metallic or stony objects. __________ 
b) World environment day is celebrated on 15th June all over the world. __________ 
c) CFL bulbs consume a lot of electricity. __________ 
d) Sputnik 1 was the first man-made satellite. __________ 
e) We should carry a plastic bag when we go for shopping. __________ 
f) It is safe to observe a solar eclipse with naked eyes. __________ 

10. Give two examples of each:         [0.5 x 6 = 3] 

a) Artificial satellite : ____________________ ____________________ 
b) Translucent object : ____________________ ____________________ 
c) Third class lever : ____________________ ____________________ 

11.  Match ( Copy Column – A and write the correct answer from Column – B ):  [0.5 x 6 = 3] 

  Column – A       Column -  B  

a) Moon appears to grow     soil erosion 
b) The gap between two threads    thread 
c) Protection of soil      waning 
d) Loss of soil      pitch 
e) Moons appears to shrink     soil conservation 
f) The path of the screw     waxing 

12. Draw and label :           [3.5 + 2.5 = 6] 

 a) The Solar Eclipse 

 b) An example of second class lever and write its name and also show the position of (F), (L) and (E). 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

            DELHI PUBLIC SCHOOLDELHI PUBLIC SCHOOLDELHI PUBLIC SCHOOLDELHI PUBLIC SCHOOL    
                   SAIL Township, Ranchi 

SECOND SEMESTER ( SESSION-2017-18) 
          CLASS: – V                                                                   DATE :-10.03.2018  

          SUBJECT:- Mathematics                                                            M.M. :- 80 

General Instruction: 
In Section – A , write the appropriate answers in Questions 1 and 2. Write the proper steps in  

Question 3 with correct answer. In Section – B Solve all questions with proper statement and steps. 

Section – A  
1. Fill in the blanks with correct answers:        [ 1 x 10 = 10] 
 a) An angle measuring more than 90° but less than 180° is called an ___________. 

 b) The sum of the four angles of quadrilateral is ___________. 

 c) A line segment whose end point lie on the circle and which passes through the centre is called _____. 

 d) The freezing point of water is ___________°F. 

 e) Representation of data using picture symbol is called ___________. 

 f) The number of obtuse angles a triangle can have is ___________. 

 g) 
8

5
 of day = ___________ hour. 

 h) There can be formed ___________ possible nets of a cube. 

 i) When 58916 is rounded to the nearest thousand then it is ___________. 

 j) The radius of circle is ___________, when its diameter is 9cm. 

2. Write True/ False against each statement:       [0.5 x 10 = 5 ] 
 a) A line segment joining any two points on a circle is called its diameter. 

 b) The normal human body temperature is 37°C. 

 c) Maximum number of types of rectangles in the net of a Cuboid is 6. 

 d) The price at which an item is bought is called the cost price. 

 e) 110°, 50°, and 50° can make a triangle 

 f)  radius =   circumference  
       π 
 g) As any object goes farther, it appears to be bigger. 

 h) Profit = selling price – cost price. 

 i) Two angles, the sum of whose measure is 180°, are supplementary angle. 

 j) The horizontal line is called  x- axis in bar graph. 

3. Do as directed:           [ 2 x 12 = 24] 
 a) Find the cost price, when selling price is ` 680 and profit is ` 50. 

 b) Using protractor construct the angles – 
  i) 40°    ii) 110° 
 c) Classify the following triangles – 
  i)  ∆ABC whose ∠A = 90°,  ∠B = 60° AND ∠C = 30°  
  ii) ∆ ABC where AB = 2cm, BC = 3cm, CA = 4cm 

 d) In the given rectangle ABCD.      
  

     Find the measure of AB  and AD  
            
                                                                                                                          P.T.O. 

 

 

 

 

 

 

 

 

 



e) Convert 100°C into °F. 

 f) Add 6 hours 35 minutes and 4 hours 35 minutes. 

 g) Subtract 8 days 18 hours from 12 days 10 hours. 

 h) Round 7.543 and 226.936 to the nearest hundredth. 

 i) Convert 12 hours 7 minutes into seconds. 

 j) Draw a net of a cone which has open base. 

 k) A Cuboid is 9cm long 5cm broad and 6cm high. Find its volume. 

 l) Draw a circle whose radius is 3cm.  
Section – B  

4. Solve:            [ 3 x 7 = 21 ] 
a) The circumference of a circle is 176cm. Find its radius. 

b) Find the length of a rectangle whose area is 96 sq. m. and breadth is 8m. 

c) By travelling 8 hours 30 minutes, Rakesh arrives in the Bhopal at 5:20 p.m. By what time did he start  
               his journey? 
 

d) Generate a net of – 
  i) A cubical water tank opened from top 
 ii) A cylindrical object, whose both plane surfaces are covered with cone. 

e) Praveen bought a watch for ` 2140 and sold it at a gain of 10%. Find the selling price of the watch. 

f) The perimeter of a square is 64cm. Find its area.  

g) Read the two dimensional data table and answer the following questions: 
 

 

First direction :- 
 Class / Days Monday  Tuesday Wednesday  Thursday Friday Saturday 

S
ec

on
d 

D
ir

ec
ti

on
 I 42 46 40 46 40 35 

II 40 45 40 45 35 30 

III 45 45 50 50 42 35 

IV 30 35 45 42 46 40 

V 48 46 48 50 48 50 

 

i)  How many student were present in class IV on Friday ? 
ii) On what day the attendance of students was highest in class V ? 
iii) Which class did have the maximum attendance on Wednesday ? 

5. Solve :            [ 4 x 5 = 20] 
 a) On a particular day, the maximum and minimum temperatures are recorded as 35°C and 20°C  
    respectively. Express the difference of two temperatures in Fahrenheit. 
 

 b) A man bought 360 eggs at `12 per dozen. 60 eggs were broken and 30 eggs were rotten. Find his  
     profit or loss percent, if he sells the rest of the eggs at ` 15 per dozen. 
 

 c) The radius of a circular plot is 108.5 m. It is to be covered by boundary wall. Find the total cost of  
      constructing boundary wall, if the construction of 1m wall costs ` 510. 
 

 d) A lawn 50m. long and 40m broad has a path of uniform width 8m outside it. Find the area of the path  
                and the cost of levelling it at the rate of ` 50 per sq. meter. 
 

 e) Draw a vertical bar graph from the following data – 
 

Subject Maths 
Social 

Science 
General 
Science 

Hindi English 

No. of 
Students 

50 90 70 80 60 
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I.  Answer in one word:          [ 1 x 10 = 10] 

1) Who is the author of the famous book ‘The Girl with the Dragon Tattoo’? ____________________________ 

2) Who became the youngest and first woman CEO of ICICI Bank Ltd. in 2009 ?________________________ 

3) Name the adventure sport in which you wear a mask under water. __________________________________ 

4) Name the actor who played the role of Chulbul Pandey. __________________________________________ 

5) What is the scientific study of language called? _________________________________________________ 

6) Who invented the microwave oven ? _________________________________________________________ 

7) Which city in Madhya Pradesh is referred to as ‘Cow herd’s hill’? __________________________________ 

8) On which date is Labour Day celebrated? __________________________________ 

9) What is the full form of WTO ? _____________________________________________________________ 

10) Who invented the Barbie doll ? _____________________________________________________________ 

II.  Write ‘True’ or ‘False’:          [ 1 x 10 = 10] 

1) Verghese Kurien set up a dairy cooperative in Gujarat called Amul.  _________________ 

2) Satya Nadella is the Indian born American business professional who  
became CEO of Microsoft in 2014.       _________________ 

3) Jhumpa Lahiri won the Pulitzer prize in 2000.     _________________ 

4) John Spilsbury invented the Jigsaw puzzles.      _________________ 

5) Constantin Fahlberg invented the stainless steel.     _________________ 

6) The state of Chhatisgarh was formed in 2000 A.D.     _________________ 

7) Mandarin is the most widely spoken language in the world.    _________________ 

8) We consult a dermatologist if we have skin infection.    _________________ 

9) Prophet Muhammad was born in Saudi Arabia.      _________________ 

10) The Roman numeral MMXV stands for 2015.     _________________ 

III.  Choose the name of the personality who said these famous words:    [1 x 5 = 5] 

1) “Be the change that you wish to see in the world.” _________________________________________ 
a) Mahatma Gandhi   b) Barack Obama 

2) “The rich will do anything for the poor but get off their backs.” _______________________________ 
a) Jawaharlal Nehru   b) Karl Marx 

3) “You have to dream before your dreams can come true.”  ____________________________________ 
a) Albert Einstein   b) APJ Abdul Kalam 

4) “Float like a butterfly, sting like a bee.” __________________________________________________ 
a) Muhammad Ali   b) Don Bradman 

5) “Life is what happens while you are busy making other plans.” ________________________________ 
a) John Lennon   b) Indira Gandhi 

P.T.O. 

 



 

IV.  Read the clues and fill in the missing letters:       [1 x 5 = 5] 

1) If a lady is about to have a baby, she should go to a _______ Y NA E C O L O _______ I S T 

2) Mumtaz Mahal died in this city.  _______U R    _______ A N P U R 

3) The capital of Thailand. - _______ A N G _______ O K 

4) Fine wool obtained from a kind of goat. - _______A S H  _______ E R E 

5) In case of heart problems, we should consult a _______A R D I O _______ O G I S T. 

V.  Match the following:          [1 x 5 = 5] 
1) Guru    a) small rowing boats  _______ 

2) dinghy    b) a violent criminal  _______ 

3) thug     c) Wilhem Roentgen  _______ 

4) x-ray    d) Harry Coover  _______ 

5) Super glue    e) Spiritual teacher  _______ 

VI.   Unscramble the words to name the following:      [1 x 5 = 5 ] 

1) What do we call to Mumbai Stock Exchange? __________________________________ LADAL    RETEST 

2) In which country should the noun ‘gift’ be used with caution?  __________________________ NYEGMRA 

3) Amir Khan plays this character in the movie Three Idiots. ____________________________ NCOHRA 

4) In which Indian city is Bannerghatta National Park located? __________________________ UNEGLABUR 

5) Who is the author of the book ‘Train to Pakistan’?_________________________ THUKSWANH  NGISH 

VII.  From Current affairs:          [1 x 5 = 5 ] 

1) Who became the first Indian to win an international medal in skiing?  
Ans.-___________________________________________________________________________ 

2) Name the India’s first city to have a common mobility card for rides on public buses and the metro. 
Ans.-___________________________________________________________________________ 

3) Name the line that demarcates the boundary between India and Pakistan. 
Ans.-___________________________________________________________________________ 

4) Who is the winner of Jnanpith award 2017? 
Ans.-___________________________________________________________________________ 

5) Which country recently grant citizenship to humanoid robot “Sofia”? 
Ans.-___________________________________________________________________________ 

VIII.  Answer the following questions:        [1 x 3 = 3 ] 

1) The word ‘Kick Off ’ is associated with _________________________________ 
     a) Football   b) Basketball   c) Cricket   d) Kabaddi 

2) Name the Indian players who got medal in Olympic 2016. 

________________________________________________________________________________________ 

3) Write down any two asanas. 

_____________________________________  _______________________________________ 

IX.  Match the following:          [0.5 x 4 = 2 ] 
1) Athletics    a) Push pass  ________ 

2) Basketball    b) Raid   ________ 

3) Football    c) Sprint  ________ 

4) Kabaddi     d) Chest pass  ________ 
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1. Choose the correct option  :         [0.5 x 5 = 2.5] 

i) Which shortcut key is used to execute the program? 
a) Alt +5   b) Shift +F5   c) Shift + F4  d) Enter key 

ii) Which statement is used to assign a value to a variable ?  
a) Cls   b) Print   c) Let   d) Remark 

iii) What is the extension of a filename in Basic? 
a) .odf   b) . Bas   c) . xls   d) . ppt 

iv) Which operator divides two numbers and returns the remainder in Q Basic? 
a)  +   b)   –     c)  *   d) ^ 

v) Which option helps to change the colour of the screen? 
a) Run   b) File    c) Display  d) Edit 

2. Fill in the blanks:          [0.5 x 5 = 2.5] 

a) Websites are opened with the help of ____________________________________. 

b) Algorithms are written in _____________________________________ language. 

c) The term used to remove an error is said as ________________________________. 

d) Screen 2 is the ___________________________________ resolution graphic mode. 

e) _____________________________ command changes the screen back to the text mode. 

3. Write short notes on :          [ 2 x 2 = 4 ] 

a) Resolution - ____________________________________________________________________________________  

_________________________________________________________________________________________________ 

_________________________________________________________________________________________________ 

b) Internet - _______________________________________________________________________________________ 

_________________________________________________________________________________________________ 

_________________________________________________________________________________________________ 

4. Differentiate between:          [ 2 x 2 = 4 ] 

 a) Print and Let statement 

Print statement Let statement 
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 b) Screen 0  and Screen 1 

Screen 0 Screen 1 
 

 

 

 
 

 

 

 

 
 

 

5. What will be the output of the following program in Q Basic:    [ 1 x 2 = 2] 

a)  A = 30       b) Cls 
     B = 44          Print “Hello! How are you” 
     C = A + B          Print “Have a nice day” 
     D = A * B          End 
     Print C, B 
     End 

 

____________________________    ____________________________ 

6. Answer the following questions:        [ 2 x 3 = 6 ] 

a) What is Draw command?  

Ans.-___________________________________________________________________ 

 _______________________________________________________________________ 

 _______________________________________________________________________ 

 _______________________________________________________________________ 

 b) What is an Algorithm? State its characteristics? 

Ans.-___________________________________________________________________ 

 _______________________________________________________________________ 

 _______________________________________________________________________ 

 _______________________________________________________________________ 

 c) What are Pixels? 

Ans.-___________________________________________________________________ 

 _______________________________________________________________________ 

 _______________________________________________________________________ 

 _______________________________________________________________________ 

             Page 2 of 3 

 

 

 

 

 

 

 



 

7. Write down the function and syntax of the following commands:   [2 x 2 = 4 ] 

     Function     Syntax 

 a) Cls   ________________________  ________________________ 

    ________________________  ________________________ 

    ________________________  ________________________ 

 b) End   ________________________  ________________________ 

    ________________________  ________________________ 

    ________________________  ________________________ 

8. Write a program in Q Basic  to draw the following:     [ 2 x 2 = 4 ] 

a)     b)    

 

 

 

 

 

 

 

 

 

 

 

 

9. Answer the following question in one word:      [ 0.5 x 2 = 1 ] 

a) A group of students wants to go for a picnic party. What to do you think would help them in making    
    out the plan for the picnic successfully. 

Ans.-___________________________________________________________________ 

 _______________________________________________________________________ 

 

b) Aryan wants to open the website of his school to check the latest updates. What should he type in the 
address box to open the website of his school and what is the first page of the website called as? 

Ans.-___________________________________________________________________ 

 _______________________________________________________________________ 
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SECOND SEMESTER ( SESSION-2018-19) 

          CLASS: – V                                                              DATE :- 22.02.2019 
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1111----    fgUnh Hkk’kk esa vuqokn djsa &fgUnh Hkk’kk esa vuqokn djsa &fgUnh Hkk’kk esa vuqokn djsa &fgUnh Hkk’kk esa vuqokn djsa &                                    [ 2 x 4 = 8 ] 
    d½ ,rkS ckydkSA      [k½ ,’k% d%\ 
    ckydkS uer%A          ,’k% xt%A 
    fde~ ckydkS xk;r% \         xt% fde~ djksfr \ 
    ufg] ckydkS u xk;r%] rkS uer%A        xt% “kuS% “kuS% pyfrA 
 

 x½ ,rkfu QykfuA      ?k½ ,rs v”ok% 
    ,rr~ ukj³~xe~A         v”ok% /kkofUrA 
    ,rr~ lsoe~A          rs dFka /kkofUr \ 
    ,rr~ ukfjdsye~A         v”ok% rhoze~ /kkofUrA 
 
2222----    dks’Bd esa fn, x, mfpr fØ;kin pqudj okD; dh iwfrZ dhft, &dks’Bd esa fn, x, mfpr fØ;kin pqudj okD; dh iwfrZ dhft, &dks’Bd esa fn, x, mfpr fØ;kin pqudj okD; dh iwfrZ dhft, &dks’Bd esa fn, x, mfpr fØ;kin pqudj okD; dh iwfrZ dhft, &                [0.5 x 4 = 2 ]    
 d½ Hkzejk% -----------------------------------------------------A ¼ HkzefUr]   xq¥tfUr] uUnfURk ½ 
 [k½ iou% -----------------------------------------------------A ¼ irfr]   xPNfr]   ogfr ½ 
 x½ tuk% -----------------------------------------------------A  ¼ ØhMfUr]   dwtfUr]   HkzefUr ½ 
 ?k½ iq’ie~ -----------------------------------------------------A ¼ fodlfUr]   fodlfr]   fodlr% ½ 
 
3333----        dks’Bd esa fn, x, funsZ”kkuqlkj opu cnfy, &dks’Bd esa fn, x, funsZ”kkuqlkj opu cnfy, &dks’Bd esa fn, x, funsZ”kkuqlkj opu cnfy, &dks’Bd esa fn, x, funsZ”kkuqlkj opu cnfy, &                            [ 1 x 3 = 3 ]    
 d½ ,rr~ deye~A ¼ cgqopus½ ¾-----------------------------------------------------A 
 [k½ ,rkfu pØkf.kA ¼ ,dopus½¾-----------------------------------------------------A 
 x½ ,rr~ iqLrde~A ¼ f}opus½¾-----------------------------------------------------A 
 
4444----    rkfydk iwjh dhft, &rkfydk iwjh dhft, &rkfydk iwjh dhft, &rkfydk iwjh dhft, &                                        [0.5 x 4 = 2 ]    
    mnkgj.ke~ & l% fy[kfr   rkS fy[kr%   rs fy[kfUr 
  d½ l% [ksyfr   -------------------------   -------------------------- 
  [k½ lk [kknfr    -------------------------   -------------------------- 
 
5555----    dks’Bd esa fn, x, mfpr loZuke in }kjk fjDr LFkku dh iwfrZ dhft, &dks’Bd esa fn, x, mfpr loZuke in }kjk fjDr LFkku dh iwfrZ dhft, &dks’Bd esa fn, x, mfpr loZuke in }kjk fjDr LFkku dh iwfrZ dhft, &dks’Bd esa fn, x, mfpr loZuke in }kjk fjDr LFkku dh iwfrZ dhft, &            [0.5 x 4 = 2 ]    
    d½ ---------------------- ckfyds fy[kr%A ¼ rs] rkS] lk ½ 
 [k½ ih;w’k% rUe;% p [ksyr%A ---------------------- glr% vfiA ¼ rkS] rs] l% ½ 
 x½ ckfydk% u`R;fUrA ---------------------- u xk;fUrA ¼ rs] rk%] lk ½ 
 ?k½ ckydk% /kkofUrA ---------------------- irfUrA ¼ rs] rk%] l% ½ 
 
6666----    fuEufyf[kr “kCnksa dks laLd`r esa cnfy, &fuEufyf[kr “kCnksa dks laLd`r esa cnfy, &fuEufyf[kr “kCnksa dks laLd`r esa cnfy, &fuEufyf[kr “kCnksa dks laLd`r esa cnfy, &                            [0.5 x 4 = 2 ]    
 d½ dey ¾--------------------------------------------    [k½ vaxwj ¾-------------------------------------------- 
 x½ ihiy ¾--------------------------------------------    ?k½ xqykch ¾-------------------------------------------- 
 
7777----    fuEufyf[fuEufyf[fuEufyf[fuEufyf[kr fjDr LFkkuksa dh iwfrZ dks’Bd esa fn, x, vadksa ds laLd`r “kCnksa ls dhft, &kr fjDr LFkkuksa dh iwfrZ dks’Bd esa fn, x, vadksa ds laLd`r “kCnksa ls dhft, &kr fjDr LFkkuksa dh iwfrZ dks’Bd esa fn, x, vadksa ds laLd`r “kCnksa ls dhft, &kr fjDr LFkkuksa dh iwfrZ dks’Bd esa fn, x, vadksa ds laLd`r “kCnksa ls dhft, &    [0.5 x 6 = 3 ]    
 d½ ---------------------- okuj% vfLrA ¼ 1 ½    [k½ ---------------------- efgyk% vkxPNfUrA ¼ 3 ½ 
 x½ ---------------------- i=kf.k irfUrA ¼ 9 ½    ?k½ ---------------------- lw;kZ%A ¼ 18 ½ 
 ³½ ---------------------- Nk=kS iBr%A ¼ 2 ½    p½ ---------------------- iq’ie~ Ik”;frA  ¼ 1 ½ 
 
8888----    dks’Bd esa fn, x, mfpr fodYi dks pqfu, &dks’Bd esa fn, x, mfpr fodYi dks pqfu, &dks’Bd esa fn, x, mfpr fodYi dks pqfu, &dks’Bd esa fn, x, mfpr fodYi dks pqfu, &                            [0.5 x 2 = 1 ]    
 d½ vge~ laLd`re~ ----------------------A ¼ iBfr]   iBfl]   iBkfe ½ 
 [k½ Roe~ fde~ ---------------------- \ ¼ [kknfr] [kknfl]  [kknkfe ½ 
 

9999----    “kCn :Ik fy[ksa &“kCn :Ik fy[ksa &“kCn :Ik fy[ksa &“kCn :Ik fy[ksa &                                        [2 x 4 = 8 ]    
    d½ yrk & izFkek ls prqFkhZ foHkfDr rd 
 [k½ ckyd & iapeh ls lacks/ku foHkfDRk rd 
 

10101010----    /kkrq:Ik fy[ksa &/kkrq:Ik fy[ksa &/kkrq:Ik fy[ksa &/kkrq:Ik fy[ksa &                                            [3 x 3 = 9 ]    
    d½ ue~ & yV~ ydkj ( PRESENT TENSE)  
 [k½ Hkw & y`V~ ydkj  ( FUTURE TENSE) 
 x½ ik & y³~ ydkj  ( PAST TENSE) 
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SECOND SEMESTER ( SESSION-2018-19) 

          CLASS: – V                                                              DATE :- 25.02.2019 

          SUBJECT:- SOCIAL SCIENCE                                                     M.M. :- 80 

1. Define the following terms:         [ 1 x 8 = 8 ] 

 a) relief camps   b) metro  c) destitute  d) sati    

 e) revolutionaries  f) urbanization  g) destination  h) Volcanic mountain 

2. Answer in detail:          [ 3 x 7 = 21] 
a) What is ‘Quit India Movement’ and What was the outcome of this movement? 
b) Give reasons for the failure of the 1857 revolt. 
c) Why did people consider M.S. Subbulakshmi as the Queen of Carnatic music? 
d) ‘India uses the waterways to export and import’. Explain. 
e) Explain the drought condition. How can be this avoided? 
f) How do solid wastes affect the soil? How can this be prevented? 
g) Why were farmers and weavers unhappy with the British rule? 

3. Answer in short:          [1.5 x 6 = 9 ] 
a) Why did Lord Curzon decide to divide Bengal? 
b) Which law made the princes dissatisfied with the British? 
c) What was the contribution of Subramanya Bharathi as a journalist? 
d) Why is it possible to move fast in a highway? 
e) Why are coastal areas most affected during a cyclone? 
f) List any three human activities that contribute to water pollution. 

4. Answer in one sentence:         [ 1 x 10 = 10 ] 
a) Name the leader who undertook the famous Vedaranyam Salt Satyagraha March. 
b) Name two centres and their leaders of the 1857 revolt. 
c) Which is the most popular song of Bhimsen Joshi? 
d) How does Noise Pollution affect us? 
e) In what way is a flood useful ? 
f) What is transportation ? 
g) Name the natural disaster which can be predicted. Which state was most affected  

by this disaster in 2018?  
h) Name two natural causes of air pollution. 
i) What were the causes for the backwardness of the Indian Society? 
j) What was Rowlatt Act ? 

5. In what way do you want to serve people when you grow up and why?   [ 2 x 1 = 2 ] 
 
 

6. Fill in the blanks:          [ 0.5 x 10 = 5 ] 
a) ________ was the last Viceroy of India. 
b) The Indian National Congress was formed in ________ with the help of ________, an Englishman. 
c) ________ founded the Avvai Home for the benefit of destitute women. 
d) Land transport includes ________ and ________. 
e) The study of earthquake is called ________. 
f) ________ and ________ pollute land, air and water. 
g) The ________ discovered the Potter’s Wheel and found out that it could be  

converted into a moving object. 
P.T.O. 

 
 
 
 
 
 
 
 
 
 
 
 
 



7. Name the following:          [ 1 x 10 = 10 ] 
a) The leader who said, “Swaraj is my birth right and I shall have it”. 
b) He formed the Indian National Army. 
c) He laid the foundation for British rule in India. 
d) He inaugurated the Viswa Bharati University at Shantiniketan. 
e) The national highway which connects the four metros. 
f) The intensity of an earthquake is measured by this instrument. 
g) Any festival that cause water pollution. 
h) The natural calamity during which we should stay away from mud flow and hot gases. 
i) He established the Atomic Energy Commission of India. 
j) The last Mughal Emperor. 

8. True or False:          [ 0.5 x 10 = 5 ] 
a) Water pollution affects marine life. 
b) In India, floods occur during Monsoon. 
c) The steam engine was first invented by Newcomen. 
d) Sir C. V. Raman was awarded Nobel Prize for his ‘Raman Effect’. 
e) India is known for her fabulous wealth since ancient times. 
f) The Indian National Congress met every year in Mumbai. 
g) In 1915, Gandhiji returned from South Africa. 
h) The French were the first to reach India among the Europeans. 
i) Baba Amte founded the Anandvan Ashram. 
j) India cannot be connected with her neighbouring countries by road. 

9. Match the following:          [ 0.5 x 10 = 5 ] 
a) First World War started in    i) 1947 
b) India got Independence      ii) 1905 
c) Partition of Bengal     iii) 1919 
d) Non-cooperation Movement    iv) 1935 
e) Vasco-da-Gama landed in Calicut   v) 1757 
f) Battle of Plassey      vi) 1910 
g) Gitanjali was published     vii) 1853 
h) Government of India Act     viii) 1498 
i) Railways was introduced in India    ix) 1914 
j) Jallianwala Bagh Massacre    x) 1920 

10. Complete the series:          [ 0.5 x 10 = 5 ] 

 a) Social reformers  – Raja Rammohan Roy,     ________________,     ________________ 

 b) Social Worker  – Mother Teresa,      ________________,     ________________ 

 c) Moderates   – Dadabhai Naoroji,     ________________,    ________________ 

 d) Revolutionaries  – ________________,       Veer Savarkar,     ________________ 

 e) Extremists   – ________________,    ________________,    Bipin Chandra Pal 
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SECOND SEMESTER ( SESSION-2018-19) 

          CLASS: – V                                                              DATE :- 27.02.2019 

          SUBJECT:- HINDI                                                       M.M. :- 80 

[k.M &d[k.M &d[k.M &d[k.M &d    

1111----    fuEufyf[kr xn~;ka”k dks i<+dj fn, x, iz”uksa ds mÙkj fyf[k, &fuEufyf[kr xn~;ka”k dks i<+dj fn, x, iz”uksa ds mÙkj fyf[k, &fuEufyf[kr xn~;ka”k dks i<+dj fn, x, iz”uksa ds mÙkj fyf[k, &fuEufyf[kr xn~;ka”k dks i<+dj fn, x, iz”uksa ds mÙkj fyf[k, &                [ 1 x 5 = 5 ] 
euq’; us tc igyh ckj vkx tykuk lh[kk Fkk] rks og ,d cgqr cM+k vkfo’dkj FkkA vkt rks gekjs ikl vkx 
tykus ds vusd lk/ku gSA ijUrq izkphu ;qx esa u rks lk/ku Fks vkSj u  gha le> FkhA ekuk tkrk gS fd euq’; 
us pded ds iRFkjksa dks Vdjkdj muds ?k’kZ.k ¼f?klus½ ls vkx tykbZ gksxhA ;g dk;Z ftlus Hkh fd;k Fkk] og 
,d egku ekuo gksxkA mlesa ;g xq.k tUe ls gh fo|eku gksaxs vFkkZr~ ,slk xq.k ftlds fy, mls dgha ckgj ls 
f”k{kk ugha feyh gksxhA okLro esa f”k{kk rks ogh gksrh gS] tks gekjs Hkhrj fNis gq, xq.kksa dks ckgj ys vkrh gSA gks 
ldrk gS fd fdrkch Kku ls th pqjkus okyk ckyd gha dksbZ egku vkfo’dkj dj MkysA lalkj esa ,sls vusd 
mnkgj.k ekStwn gSaA vr% ge lHkh dks vius xq.kksa dk fodkl djrs jguk pkfg,A 
Ikz”u%Ikz”u%Ikz”u%Ikz”u%    
d½ euq’; us dSls vkx tykbZ gksxh \ 
[k½ okLro esa f”k{kk fdls dgrs gSa \ 
x½ og ,d egku ekuo gksxkA bl okD; esa fo”ks’k.k “kCn D;k gS \ 
?k½ ge lHkh dks D;k djrs jguk pkfg, \ 
³½ foykse “kCn fy[ksa &  i) xq.k  ii) izkphu 

[k.M & [k[k.M & [k[k.M & [k[k.M & [k    

2222----    jpuk ds vk/kkj ij okD; ds fdrus Hksn gSa jpuk ds vk/kkj ij okD; ds fdrus Hksn gSa jpuk ds vk/kkj ij okD; ds fdrus Hksn gSa jpuk ds vk/kkj ij okD; ds fdrus Hksn gSa \\\\    muds uke mnkgj.k lfgr fy[ksaAmuds uke mnkgj.k lfgr fy[ksaAmuds uke mnkgj.k lfgr fy[ksaAmuds uke mnkgj.k lfgr fy[ksaA            [ 4 x 1 = 4 ]    

3333----    iz”uksa ds mÙkj fy[ksa & ¼mÙkj okD;ksa esa fy[ksa ½iz”uksa ds mÙkj fy[ksa & ¼mÙkj okD;ksa esa fy[ksa ½iz”uksa ds mÙkj fy[ksa & ¼mÙkj okD;ksa esa fy[ksa ½iz”uksa ds mÙkj fy[ksa & ¼mÙkj okD;ksa esa fy[ksa ½                            [ 1 x 4 = 4 ]    
    d½ /kkrq fdls dgrs gSa \ 
 [k½ okD; fdls dgrs gSa \ 
 x½ i= fdrus izdkj ds gSa \ uke fy[ksaA 
 ?k½ lnk cgqopu esa iz;ksx gksus okys nks “kCn fy[ksa A 

4444----    lkoZukfed fo”ks’k.k vkSj loZlkoZukfed fo”ks’k.k vkSj loZlkoZukfed fo”ks’k.k vkSj loZlkoZukfed fo”ks’k.k vkSj loZuke esa mnkgj.k lfgr varj Li’V djsa Auke esa mnkgj.k lfgr varj Li’V djsa Auke esa mnkgj.k lfgr varj Li’V djsa Auke esa mnkgj.k lfgr varj Li’V djsa A                [ 2 x 1 = 2 ]    

5555----    vknjkFkZd cgqopu dk iz;ksx D;ksa fd;k tkrk gSvknjkFkZd cgqopu dk iz;ksx D;ksa fd;k tkrk gSvknjkFkZd cgqopu dk iz;ksx D;ksa fd;k tkrk gSvknjkFkZd cgqopu dk iz;ksx D;ksa fd;k tkrk gS\\\\    mnkgj.k lfgr fy[ksaAmnkgj.k lfgr fy[ksaAmnkgj.k lfgr fy[ksaAmnkgj.k lfgr fy[ksaA            [ 2 x 1 = 2 ]    

6666----    funsZ”kkuqlkj iz”uksa ds mÙkj fy[ksa &funsZ”kkuqlkj iz”uksa ds mÙkj fy[ksa &funsZ”kkuqlkj iz”uksa ds mÙkj fy[ksa &funsZ”kkuqlkj iz”uksa ds mÙkj fy[ksa &                                [ 2 x 6 = 12 ]    

i) fuEu okD;ksa esa iz;qDr dky ds Hksn fy[ksa & 
d½ eSa NqV~fV;ksa esa vkxjk tkÅ¡xkA  [k½ vkt esjs nknk th vk jgs gSaA 

ii) v”kqn~/k okD;ksa dks “kqn~/k dj iqu% fy[ksa & 
d½ ge rqEgkjh ?kj dy dks tk,¡xsA  [k½ mldk dgkuh eSaus lquk gSA 

iii) fuEu okD;ksa esa mi;qDr fojke fpg~u yxkb, & ¼mÙkj okD; fy[kdj nsuk gS ½ 
d½ vgk dSls dkys&dkys ckny f?kjdj vk x, 
[k½ ia tokgjyky usg: Hkkjr ds izFke iz/kkuea=hs vkSj MkW jktsUnz izlkn izFke jk’Vªifr Fks 

iv) fn, x, “kCnksa ds nks&nks Ik;kZ;okph “kCn fy[ksa & 
d½ leqnz     [k½ jktk 

v) fjDr LFkkuksa esa lgh le:Ikh fHkUukFkZd “kCn Hkfj, & 
d½ d`’.k ;equk unh ds -------------------------- ij calh ctk;k djrs FksA 
[k½ eSaus viuk -------------------------- dk;Z iwjk dj fy;k gSA 

vi) uhps fn, x, eqgkojksa ds vFkZ fy[ksa & 

d½ ikiM+ csyuk     [k½ ck,¡ gkFk dk [ksy 

[k.M &x[k.M &x[k.M &x[k.M &x    

7777----    nh?kZmÙkjh; iz”uksa ds mÙkj fy[ksa &nh?kZmÙkjh; iz”uksa ds mÙkj fy[ksa &nh?kZmÙkjh; iz”uksa ds mÙkj fy[ksa &nh?kZmÙkjh; iz”uksa ds mÙkj fy[ksa &                                [ 2 x 4 = 8 ]    
i) eksgEen xkSjh us Hkkjr ij vkØe.k D;ksa fd;k \ 
ii) xjeh rFkk o’kkZ ds ekSle esa ufn;ksa dk :Ik dSlk gksrk gS \ 
iii) izf”k{k.k ds nkSjku jkds”k “kekZ dks fdl dfBukbZ dk lkeuk djuk iM+k \ 
iv) M~;wuSaV us ekSr ls tw>us okys ?kk;y lSfudksa ds fy, D;k&D;k fd;k \ 

P.T.O. 
 
 



8888----    ,d okD; esa iz”uksa ds mÙkj fy[ksa & ¼okD; esa fy[kuk vfuok;Z gS ½,d okD; esa iz”uksa ds mÙkj fy[ksa & ¼okD; esa fy[kuk vfuok;Z gS ½,d okD; esa iz”uksa ds mÙkj fy[ksa & ¼okD; esa fy[kuk vfuok;Z gS ½,d okD; esa iz”uksa ds mÙkj fy[ksa & ¼okD; esa fy[kuk vfuok;Z gS ½                [ 1 x 8 = 8 ]    
i) vatfy vius ifjokj ds lkFk dgk¡ dh ;k=k ij xbZ Fkh \ 
ii) *pkj ehukj* dgk¡ fLFkr gS \ 
iii) Hkys yksxksa ij fdldk izHkko ugha iM+rk gS \ 
iv) pancjnkbZ dkSu Fkk \ 
v) fo”o dk lcls Å¡pk ck¡/k Hkk[kM+k uaxy fdl unh ij cuk;k x;k gS \ 
vi) varfj{k&;ku esa ;k=h dgk¡ lksrs gSa \ 
vii) tgk¡ ck¡/k cuk, tkrs gSa] ogk¡ D;k cu tkrk gS \ 
viii) jsM ØkWl dSlk laxBu gS \ 

9999----    fdlus] fdlls dgk fdlus] fdlls dgk fdlus] fdlls dgk fdlus] fdlls dgk \\\\    fy[ksa %&fy[ksa %&fy[ksa %&fy[ksa %&                                [ 1 x 6 = 6 ]    
i) **, va/ks! lquk gS rw rhj pykus esa cM+k ekfgj gSA**   
ii) **rqe xkSjh dk gqDe ekuus dks jkth gks x,A** 
iii) **rqEgsa varfj{k ls Hkkjr dSlk yx jgk gS\** 
iv) **rqe crkvks] rqeus NqV~fV;ksa esa D;k fd;k \** 
v) **varfj{k&;ku esa lc phats Hkkjghu gks tkrh gS vkSj rSjus yxrh gSaA** 
vi) **vkt eSaus vki yksxksa dks ,d deky fn[kkus ds fy, cqyk;k gSA** 

10101010----    fjDr LFkkuksa esa lgh “kCn Hkjdj okD; iwjk djsa &fjDr LFkkuksa esa lgh “kCn Hkjdj okD; iwjk djsa &fjDr LFkkuksa esa lgh “kCn Hkjdj okD; iwjk djsa &fjDr LFkkuksa esa lgh “kCn Hkjdj okD; iwjk djsa &                        [ 1 x 6 = 6 ]    
i) ufn;k¡ ---------------------- dk lcls cM+k ojnku gSaA 
ii) ;equk dk mn~xe LFky ---------------------- gSA 
iii) lu~ 1984 ds 3 viSzy dk fnu gekjs ns”k ds fy, ---------------------- fnu FkkA 
iv) izfro’kZ ---------------------- dks fo”o jsM ØkWl fnol euk;k tkrk gSA 
v) gekjs ns”k Hkkjr esa jsM ØkWl dk eq[;ky; ---------------------- esa fLFkr gSA 
vi) gSnjkckn esa ,d laxzgky; gS &---------------------- laxzgky;A 

11111111----    fdlh ,dfdlh ,dfdlh ,dfdlh ,d    nksgs dk vFkZ fy[ksa &nksgs dk vFkZ fy[ksa &nksgs dk vFkZ fy[ksa &nksgs dk vFkZ fy[ksa &                                    [ 3 x 1 = 3 ]    
    tks jghe mÙke izd`fr] dk dfj ldr dqlaxA 
 panu fo’k O;kIkr ugha] fyiVs jgr HkqtaxAA 
    vFkok 
   cM+s cM+kbZ uk djSa] cM+s uk cksySa cksyA 
   jfgeu ghjk dc dgs] yk[k Vdk esjks eksyAA 

12121212----    fn, x, “kCnksa ds vFkZ fn, x, “kCnksa ds vFkZ fn, x, “kCnksa ds vFkZ fn, x, “kCnksa ds vFkZ fy[ksa &fy[ksa &fy[ksa &fy[ksa &                                    [ 1 x 3 = 3 ]    

    d½ “kkS;Z   [k½ ihfM+r   x½ gLrfyf[kr 

13131313----    “kCnksa dks tksM+dj u;k “kCn fy[ksa &“kCnksa dks tksM+dj u;k “kCn fy[ksa &“kCnksa dks tksM+dj u;k “kCn fy[ksa &“kCnksa dks tksM+dj u;k “kCn fy[ksa &                                [ 0.5 x 6 = 3 ]    

    d½ jk’Vª $ bZ; ¾ ----------------------  [k½ Hkkjr $ bZ; ¾ ----------------------  x½ LFkku $ bZ; ¾---------------------- 
 ?k½ vkjaHk $ bd ¾----------------------  ³½ izd`fr $ bd ¾----------------------  p½ uxj $ bd ¾---------------------- 

14141414----    okD; cuk,¡ &okD; cuk,¡ &okD; cuk,¡ &okD; cuk,¡ &                                            [ 1 x 2 = 2 ]    

    d½ lkSHkkX;    [k½ jksekapd 

15151515----    ewY;ijd iz”u ds mÙkj fy[ksa &ewY;ijd iz”u ds mÙkj fy[ksa &ewY;ijd iz”u ds mÙkj fy[ksa &ewY;ijd iz”u ds mÙkj fy[ksa &                                    [ 2 x 1 = 2 ]    
    [ksy&dwn esa iqjLdkj ikus ds fy, D;k djuk pkfg, \ nks OkkD;ksa esa mÙkj fy[ksaA 

[k.M &?k[k.M &?k[k.M &?k[k.M &?k    

16161616----    fdlh ,d fo’k; ij i= fy[ksa &fdlh ,d fo’k; ij i= fy[ksa &fdlh ,d fo’k; ij i= fy[ksa &fdlh ,d fo’k; ij i= fy[ksa &                                [ 5 x 1 = 5 ]    

    d{kk esa nsj ls vkus ds dkj.k crkrs gq, oxZ f”kf{kdk dks i= fy[ksaA 
     vFkok 
 Nk=kokl esa jgrs gq, firkth ls :Ik;s e¡xokus ds fy, i= fy[ksaA 

17171717----    fdlh ,d fo’k; ij vUkqPNsn fy[ksa &fdlh ,d fo’k; ij vUkqPNsn fy[ksa &fdlh ,d fo’k; ij vUkqPNsn fy[ksa &fdlh ,d fo’k; ij vUkqPNsn fy[ksa &                                [ 5 x 1 = 5 ]    

    d½ jk’Vªh; R;ksgkj   [k½ izd`fr dk izdksi  x½ Hkkjrh; toku ¼lSfud½ 
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SECOND SEMESTER ( SESSION-2018-19) 

          CLASS: – V                                                              DATE :- 01.03.2019 

          SUBJECT:- ENGLISH                                                      M.M. :- 80 

Section -  A ( Reading – 10 marks) 
1. Read the passage given below and answer the questions that follow:   [ 1 x 5 = 5 ] 

Para – 1  A lion prowled about in a pasture where four bulls were grazing. He tried many times to 
capture them but each time he failed. Whenever he came near, the four bulls turned and formed a ring, 
so that no matter which way the lion approached, he was met by their horns. 
Para – 2 One day, the bulls had a quarrel and would not speak to one another. Each one went alone to a 
separate part of the pasture to graze. This was the moment the lion had been waiting for. One by one he 
attacked the bulls and made an end of them.  
Para – 3  Well fed and contended, the lion thought, “Those beasts would still be alive had they 
remembered : UNITED WE STAND; DIVIDED WE FALL.” 
 

a) What did the lion try?  (Para - 1) 
b) Why couldn’t the lion catch the bulls?   (Para - 1) 
c) Why did the bull graze in different directions?   (Para - 2) 
d) What is the moral of the story?    (Para - 3) 
e) i)  Find a word from the passage which means ‘eating grass’.  (Para - 1) 

ii) Find an antonym of ‘dissatisfied’ from the passage.   (Para - 3) 

2. Read the following poem carefully and complete the summary that follows: 
A MOTHER’S LOVE 

Stanza – 1  A mother’s love is something  that no one can explain, 

It is made of deep devotion and of sacrifice and pain, 

  It is endless and unselfish and enduring come what may, 

  For nothing can destroy it or take that love away….    

Stanza – 2  It is patient and forgiving when all others are forsaking, 

And it never fails or falters even though heart is breaking… 

  It believes beyond believing when the world around condemns 

  And it glows with all the beauty of the rarest brightest gems…. 

Stanza – 3  It is far beyond defining, it defies all explanation, 

And it still remains a secret like the mysteries of creation… 

  A many splendoured miracle man cannot understand 

  And another wondrous evidence of God’s tender guiding hand. 

a) Complete the summary of the poem by filling the blanks with one word to be used once  
from the given box:              [4.5] 

A mother’s love is full of (i) ________ and (ii)____ ____. It can never be destroyed as it is (iii) ________ 
and (iv)________. It stands by us when we are in (v) ________ because it is patient and never (vi)_____ us. 
One cannot (vii)________ the (viii) ________ of mothers love. It is like a (ix) ________ and wondrous 
hand of Godly blessing. 
 
 
 

b) Find the word from the passage that means ‘to criticize someone or something’.  (Stanza – 2)   [ 0.5 ] 
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miracle,      endless,     pain,      devotion,      secret,      problem,      unselfish,      forsake,      explain 



Section – B ( Writing – 10 marks ) 

3. You are Mohan / Mohini, residing at B-10, Shalimar Bagh, New Delhi. Write a letter to      [ 5 ] 
the Police Commissioner, New Delhi, complaining about the misuse of loudspeakers in your city. 

       OR 
 You are Pradeep / Pratibha, a student of Govt. Senior Secondary School, New Delhi. Write a letter to the 
 Principal of your institute asking him for a leave of 7 days to accompany your grandparents for a 
 medical treatment. 
 
4. Yesterday was a memorable day in your life. Your were declared the School Captain by                   [ 5 ] 
 your Principal in the morning assembly. Write a diary entry for the same. 
       OR 
 You went on a school trip. It was a wonderful experience. Make a diary entry for the same. 

Section – C ( Grammar – 30 marks) 

5. Identify the verbs and state their tenses:       [ 1 x 4 = 4 ] 
a) Yesterday I met Jolly at the swimming pool. 
b) The children are playing in the park. 
c) I will take part in the football match. 
d) Rahul and Rohan are best friends. 

6. Fill in the blanks with the correct tense form of the verbs given in the brackets: [0.5 x 8 = 4] 
a) My gardener is not well today, so I ________ the plants. ( water) 
b) Rahul ________ his homework now. ( do) 
c) My grandfather ________ for a morning walk everyday. ( go ) 
d) They ________ television when the lights went out yesterday. ( watch ) 
e) Last week that man ________ his books for five hours. ( read) 
f) She ________ her project report on time yesterday. ( submit) 
g) What ________ (be) you ________(do) in the morning when I called you? 

7. Choose the correct preposition to fill in the blanks:     [0.5 x 8 = 4 ] 
a) He is ________ ( in / into ) his room. 
b) Look, that car is ________ fire. ( on / in) 
c) They are very proud ( about / of) their country. 
d) Open your book ( at / on) page twelve. 
e) Someone is knocking ( on / at) the door. 
f) I prefer to come ________ foot. ( by / on ) 
g) He is not suitable ( for / of) this post. 
h) We have to write ________ ( by / with ) pen. 

8. join the following sentences using appropriate conjunctions and rewrite them:    [ 1 x 4 = 4 ] 
a) She came to me. She spoke against her husband. 
b) Choose a watch. Choose a clock. 
c) He will pass. He works hard. 
d) I said sorry. My friend is still angry with me. 

9. In each of the following sentences apply a verb in agreement with it’s subject: [0.5 x 8 = 4 ] 
a) No news ________ a good news. ( is / are) 
b) Many boys ________ present in the class. ( was / were) 
c) Each of the boys ________ given a prize. ( was / were) 
d) Two thousand rupees ________ ( is / are) a good sum. 
e) Slow and steady ________ the race. ( win / wins) 
f) Two and two ________ four. ( make / makes) 
g) The three musketeers________ written by Dumas. ( was / were) 
h) We ________ throwing a party. ( are / have) 
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10. Do as directed:          [ 1 x 10 = 10] 
a) We read a story book.  ( Rewrite the sentence changing the verb into Present Continuous Tense) 

b) We are running by the roadside.  ( Rewrite the sentence changing the verb into Simple Past Tense) 

c) The cook prepares food.      (Change the verb into Past Continuous Tense and rewrite the sentence) 

d) He hit the ball hard.    ( Rewrite the sentence  changing the verb into Simple Past Tense) 

e) Write the synonym of ‘polite’. 

f) Write the antonym of ‘wild’. 

g) Make the antonym of ‘responsible’ using a suitable prefix. 

h) Gandhiji always followed noble ________( principals / principles)     –(choose the correct word) 

i) The ________ has suddenly turned cold. ( weather /whether )     –( choose the correct word) 

j) If I can ________ for a few minutes, I will again become fresh.(doze/ dose) –( choose the correct word) 

Section – D ( Literature – 30 marks) 

 
11. Answer the following questions with reference to the context:    [ 2 x 4 = 8 ] 

a) “Do not tell a single human being!” (The Rajah’s Ears) 

i) Who says this to whom?    

ii) What is the person not supposed to tell? Why do you think the speaker says this? Explain. 

b) “I want you to turn the Chief Judge back into my donkey.” (The Donkey That Became a Judge) 

i) Who says this to whom? 

ii) Why does the speaker say this? Does the Chief Judge turn into a donkey? 

c) “That’s all right.” ( Tea with Miss Honey) 

i) Who says this to whom? 

ii) Why does the speaker say this? 

d) “What’s the matter?” ( The One That Got Away) 

i) Who says this to whom? 

ii) How does the speaker feel when she says this? Give reasons for your answer. 

12. Answer in short:          [ 2 x 4 = 8 ] 
a) Is the poet of ‘Lonely Soul’ happy or sad? How do you know? 
b) What game were the children playing? Give reasons for your answer. ( Polite Children) 

c) Why does the barber tell his customer that the Rajah has got very big jewels? ( The Rajah’s Ears) 
d) What did Malcolm really bring to the class? Give reasons for your answer. (The One That Got Away) 

13. Answer the following questions in detail:       [ 3 x 2 = 6 ] 
a) Why does the farmer take a food bag when he goes to the city? (The Donkey That Became a Judge) 
b) What is different about the tree in the forest that the barber speaks to? Why does the tree get  

chopped down? ( The Rajah’s Ears) 
 

14. Give the meaning of :         [ 1 x 5 = 5 ] 

 a) eavesdropping b) snickering  c) lorry  d) grime  e) whack  

15. Make sentences with:         [ 1 x 3 = 3 ] 

 a) overheard   b) rapidly  c) rotten 
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                   SAIL Township, Ranchi 

SECOND SEMESTER ( SESSION-2018-19) 

          CLASS: – V                                                              DATE :- 05.03.2019 

          SUBJECT:- SCIENCE                                                      M.M. :- 80 

1. Define :           [ 2 x 4 = 8 ] 

 a) Tides  b) Drought  c) Plasticity  d) Weathering 

2. Answer in short:          [ 2 x 4 = 8 ] 
a) What is meant by the density of a substance? 
b) Why should we conserve fossil fuels? 
c) Why is a screw preferred over a nail for joining two objects? 
d) How does the green house effect occurs in the Earth’s atmosphere? 

3. Answer in one sentence:         [ 1 x 4 = 4 ] 
a) Which rock has a striped look and why? 
b) What is measured on a Richter scale? 
c) How is the ozone layer getting damaged? 
d) Why are sedimentary rocks easiest to identify? 

4. Answer in detail:          [ 3 x 4 = 12] 
a) List three types of volcanoes. Explain each. 
b) List three uses of artificial satellites. 
c) Explain how solar eclipse occurs? 
d) List three effects of global warming and climate change. 

5. Give reasons:           [ 2 x 2 = 4 ] 
a) We use CNG instead of petrol in our vehicles. 
b) Substances like metal expand on heating and contract on cooling. 

6. Differentiate between:         [ 2 x 2 = 4 ] 
      a) coal and petroleum 
 b) Renewable and non renewable resources 

7. Name the rocks used in making the following:      [0.5 x 4 = 2 ] 

 a) Taj Mahal   b) Red Fort  c) Blackboard  d) Chalk 

8. Fill in the blanks:          [ 1 x 6 = 6 ] 
a) Plastic and nylon are the products of __________. 
b) Aerated drinks contain __________ dissolved in water under great pressure. 
c) Molecules are always in a state of __________. 
d) A fixed pulley is fastened to a __________. 
e) A __________ is a double inclined plane. 
f) The amount of light reflected by the __________ changes every night. 

9. Name them:           [ 1 x 6 = 6 ] 
a) Mineral present in limestone. 
b) Time taken by one rotation of the moon on its axis. 
c) A solid which can flow easily. 
d) A non biodegradable waste. 
e) Harmful gases released from ACs. 
f) First remote sensing satellite launched by India. 

P.T.O. 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
10. Complete the series:          [ 1 x 6 = 6 ] 
 a) obsidian  : __________   : : limestone  : paper 
 b) organic  : humus   : : inorganic  : __________ 
 c) vines  : sandy soil   : : rose   : __________ 
 d) screw driver : __________   : : chisel  : wedge 
 e) earthquake  : seismologist   : : rocks  : __________ 
 f) epicentre  : __________   : : vent   : volcano 

11. Identify one wrong word in each and rewrite the statement correctly:   [ 1 x 6 = 6 ] 
 a) Mantle is the uppermost layer of the Earth. 
 b) A beam balance is an example of second class lever. 
 c) Objects through which light can pass partially are called opaque objects. 
 d) Coal, Petrol, LPG are examples of greenhouse gases. 
 e) Sandy soil can hold a lot of water. 
 f) Fossils  are the naturally occurring substances found in rocks. 

12. Write True or False:          [0.5 x 6 = 3 ] 
a) Atoms are the building blocks of matter. 
b) Pen is a simple machine. 
c) Crust was formed by crashing of meteorites. 
d) Density of iron is more than that of cotton. 
e) A wedge is used to hold things together effectively. 
f) Gravity of moon is more than that of the Earth. 

13. Match the following:          [0.5 x 6 = 3 ] 

a) waxing    inclined plane 

b) staircase    moon appears to shrink 

c) lemon squeezer   first class lever 

d) waning    second class lever 

e) crow bar    moon appears to grow 

f) fishing rod    third class lever 

14. Draw and label:          [ 3 + 2 = 5 ] 

 a) Lunar Eclipse 

 b) One example of each: 

  i) Wheel and axle  ii) Third class lever 

15. Label and write the composition of each layer:      [ 1 x 3 = 3 ] 
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SECOND SEMESTER ( SESSION-2018-19) 

          CLASS: – V                                                              DATE :- 07.03.2019 

          SUBJECT:- MATHS                                                      M.M. :- 80 

Section – A  
1. Do as directed:          [ 2 x 12 = 24] 

a) A car covers a distance of 245 km in 3 hours 30 mins. Find its speed. 
b) Find the diameter of the circle whose circumference is 132cm. 
c) Find the volume of a cube of length ½ m. 
d) Find the S.I. on `45,000 borrowed for 6 years at 5% p.a. 
e) Find the average of   0.9,   0.09 and 0.009. 
f) A dealer sold an article for ` 158 making  a profit of ` 27. Find his cost price. 
g) Convert into a percentage: 

 i) 
25

9
   ii) 0.08 

h) Find four square numbers which are greater than 100. 
i) Area of a rectangle is 56cm2. Its length is 8cm. What is its breadth? 
j) In a firm 20% of the staff are engineers. There are 320 staff members in all. Find the number of 

engineers. 
k)  Veena runs 2 times around a square field having side 70m long. How much distance does she run? 
l) A dealer buys an old car for ` 40,000, repairs it and increases the price by 30% and sell it. what is the 

sale price of the car? 
 
2. Solve:            [ 3 x 6 = 18 ] 

a) A box measures 8cm x 6cm x 4cm. How many boxes can be contained in a carton  
measuring 24cm x 18cm x 16cm ? 

b) Which is more : 15% of 80 or  25% of 90. 
c) Convert: 

 i) 122°F into Celsius scale  ii)   35° C into Fahrenheit scale 
d) Draw a circle of radius 4cm using compass. Draw the following on it - 

 i) centre O  ii) Radius  OA  iii) Chord PQ 
e) A dealer in furniture bought 30 chairs at ` 72 each. He polished them spending ` 240 for a lot. He sold 

them at ` 100 per chair. Find his gain %. 
f) The following table shows the daily production of T.V. sets in an industry during a week. 

Day Monday Tuesday Wednesday Thursday Friday Saturday 

Production  350 400 200 150 100 250 
 

Represent the above information through a pictograph. 
 

3. Do as directed:          [ 4 x 4 = 16 ] 
 a) In a rectangular park measuring 60m length, 40m breadth, a path of 1m width is built all around. Find: 
  i)  Outer length of the rectangular park. 
  ii) Outer breadth of the rectangular park. 
  iii) Outer area. 
  iv) Inner area. 
 b) The following graph represents the number of people of different countries in a world summit. 
 

 
 Answer the following questions: 

i) How many Indian were present ? 
ii) Which country had the minimum number of representatives ?  
iii) Which country had the maximum number of representatives ? 
iv) What was the total number of people in the summit ? 

P.T.O. 



c) A man sold two sewing machines costing him ` 750 each. One he sold for ` 900  
    and the second for ` 720. The second was defective. Find the net profit and the profit % 

 
d)  The following data represents the number of vehicles passing through Toll-Plaza during  

                  the days of week. 
 

Sunday Monday Tuesday Wednesday Thursday Friday Saturday 

100 150 150 200 250 250 300 
 

    Represent the above data by a bar graph. 
 

Section – B  
4. Fill in the blanks:          [ 1 x 12 = 12 ] 

a) The sum of the base angle of a parallelogram is _________. 
b) In ∆ABC, if ∠A = 70°,  ∠B = 50°, then ∠C = _________. 
c) The supplementary angle of 155° is _________. 
d) The area of a square of side 3.5m is _________. 
e) The perimeter of an equilateral triangle with side 5.6cm is _________. 
f) 8% of 160 km = _________. 
g) 16 = _________. (express as the sum of odd number ) 
h) The body temperature of a normal healthy person is _________°F. 
i) Representing numerical data by picture symbols is called a _________. 

j) Average = 
____?_____

TotalValue
 

k) The boundary of the circle is called the _________. 
l) The measure of a straight angle is _________. 

 
5. Write True or False for the following statements:      [0.5 x 10 = 5 ] 

a) An obtuse angle is greater than a right angle. 
b) The average of 1, 0.1, 0.01 and 0.001 is greater than 1. 
c) 0°C is cooler than 0°F. 
d) Sum of the length of two sides of a triangle is greater than the length of the third side. 
e) A portion of the circumference is called a chord of the circle. 
f) Two angles, the sum of whose measure is  90° are called complementary angles. 
g) In a pie chart, the numerical data is represented by rectangles of equal width with equal space 

between them. 
h) The unit of measurement of temperature is inches. 
i) Speed is expressed as the distance covered in one hour. 
j) Profit % or loss % is always calculated on the selling price of the goods. 

 

6. Match the column:           [ 1 x 5 = 5 ] 
  Column -  A      Column – B  

a) 0° C      i) 
100

RateTimeprincipal ××
 

b) Simple Interest     ii) 32°F 

c) Area of a square     iii) All three angles are acute 

d) Acute angled triangle    iv) Two sides equal 

e) Isosceles triangle     v) (side x side) sq. units 
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SECOND  SEMESTER ( SESSION-2018-19) 
           SUBJECT: French                      DATE :- 15.02.2019 

           CLASS: – V Sec:-___________             F. M. :- 50 

           Roll no.:-________                          M.O. :- _________ 

NAME:- _______________________________________________________________ 

I. Conjuguez les verbe aller:          (04) 

1) Je ____________ 

2) Il ____________ 

3) Tu ____________ 

4) Elle ____________ 

5) Ils ____________ 

6) Elles ____________ 

7) Vous ____________ 

8) Ils ____________ 

II. Remplissez les blances :           (05) 

1) L’été ,  ____________,  ____________,  hiver. 

2)  ____________,  ____________,  mars, avril. 

3) Lundi, ____________,  ____________,  jeudi. 

4) Samedi et ____________sont le weekend 

5) Octobre, ____________, ____________. 

III. Conjugate les verbes:              (08) 

1) Danser.                                    2) Regarder 

____________                  ____________ 

____________                  ____________ 

____________                  ____________ 

____________                  ____________ 

____________                  ____________ 

____________                  ____________ 

____________                  ____________ 

____________                  ____________ 

IV. Trouvez la nationalite :           (04) 

     Masculine     Feminine 

1) La chine  –_____________________   _____________________ 

2) Le japon –_____________________   _____________________ 

3) L’inde  –_____________________   _____________________ 

4) Le france –_____________________   _____________________ 

5) Le Espagne –_____________________   _____________________ 

6) L’Angleterre –_____________________   _____________________ 

7) L’allamagne –_____________________   _____________________ 

8) Le swisse –_____________________   _____________________ 



P.T.O. 

 

V. Présentez  vous  :            (05 ) 

_____________________________________________________________________________  

_____________________________________________________________________________  

_____________________________________________________________________________  

_____________________________________________________________________________  

_____________________________________________________________________________  

 

VI. Remplissez les blancsenutilisant les mots donnes :       (2.5) 

[  Aime,        habite,        m’appelle,        onze,        ma famille   ] 
 

1) Je _______________________ sandrine. 

2) J’ _______________________ a paris. 

3) J’ai _______________________ ans. 

4) Il ya a cinqmembresdans _______________________. 

5) J’ _______________________ ma famille. 

VII. Ecrivez les adjective  possessif :            (06) 

1) My  - ____________  ,____________, ____________ 

2) Your  - ____________  ,____________, ____________ 

3) His/ her - ____________  ,____________, ____________ 

4) Our  - ____________  ,____________, ____________ 

5) Your  - ____________  ,____________, ____________ 

6) Their  - ____________  ,____________, ____________ 

VIII. Conjuguez les verbes:         (04) 

1) Je ______________________ ( regarder) la télé. 

2) Sia ______________________ (detester ) la crepe. 

3) Vous ______________________ ( Chanter ) une  chansons. 

4) J’ ______________________ ( aime ) ma famille. 

     IX. Tranduisez  en  Français:          (1.5) 

1) C’est  un stylo 

_____________________________________________________________________ 

2) Je m’appelle Shreya. 

_____________________________________________________________________ 

3) Je Suis Indien. 

_____________________________________________________________________ 

 

ORAL ( 10 MARKS) 
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SECOND  SEMESTER ( SESSION-2018-19) 
           SUBJECT: Spanish                      DATE :- 15.02.2019 

           CLASS: – V Sec:-___________             F. M. :- 50 

           Roll no.:-________                          M.O. :- _________ 

NAME:- _______________________________________________________________ 

1. Contesta las  siguiente preguntas en español :                                  (8) 
(Answer  the following questions in Spanish) 
 

a) Como eres? 
Ans.-___________________________________________________________________________ 

b) Describe a un compañero de clase: 
Ans.-___________________________________________________________________________ 

c) Te gusta el pastel? 
Ans.-___________________________________________________________________________ 

d) A ellos les gustan las patatas? 
Ans.-___________________________________________________________________________ 

e) Como se llama tu abuelo? 
Ans.-___________________________________________________________________________ 

f) Tienes libros de español y cuaderno? 
Ans.-___________________________________________________________________________ 

g) Nishant  tiene libro de matematica? 
Ans.-___________________________________________________________________________ 

h) A  Ankita le gusta estudiar español? 
Ans.-___________________________________________________________________________ 

2. Describe las formas geomatricas con colores                                  (4) 

 
     amarillo 

  

             Un cuadrado 

 

                     rojo 

 

              Un Circulo 

 

                    azul 

             Un rectangulo 

 

 

 

 

 

 



                 naranja  

              Un triangulo            P.T.O. 

 

3. Completa la siguiente conversacion entre Marta y Carmen:            (8) 
Marta > 11 años, Española 
Carmen> 12 años, Peruana 
 
Marta : Hola! Como te ........................? 

Carmen:  ..............................................Carmen. y tu? 

Marta : Me  ..........................................Cuántos años ............? 

Carmen: .................  ......................años. Y tu? 

Marta: .......................   .........................  ............................ 

Carmen: ......................... Española? 

Marta: Si, ...................Española. ...................  .................. 

en Madrid. Y tú? 

Carmen: Yo .....................  ..................... Vivo en Madrid. 
 

4. Completa las siguientes frases correctamente :                           (5) 

a) Yo . ........................... un gato. 

Este es ...... .................... gato ....... .............................. Pepe 

b) Ellos .................. ..................chocolate. 

Estos son ...... ..........................chocolates ..... ....................... Pablo y Miguel. 

c) Ellas ............ ....................... unas galletas. 

Estas son .......... ....................... galletas ....... .................... Beatriz y Virginia. 

d) Ella ........... ................... un boligrafo. 

Este es ....... .......................        ....... .................................. de Bienvenida. 

e) Nosotros ................ ..................... unas Tijeras 

Estas son ....... ......................... Tijeras ....... .....................Sofia y Roberto. 

f) Vosotros ............. ...................... un cuadernos. 

Este es ........ ......................cuaderno ...... ....................Fernando y Antonio. 

g) Tú ................. ....................una bicicleta. 

Esta es .. ..............................bicicleta  ..... ....................... Gabriel 

h) Él ....... ........................ un coche. 

Este .... ...................... un coche ......... ................... Jose Luis 

i) Miriam ....... .....................unas patatas fritas. 

Estas son ..... ....................patatas fritas ........ ........................Miriam. 

j) Arian ................. .......................un ordenador. 



Este es ........... .......................ordenador ....... ....................... Federico. 

 

 

5. Escribe 10 partes del cuerpo.                                                        (5) 

________________  ________________  ________________  

________________  ________________  ________________ 

________________  ________________  ________________ 

________________ 
6. Escribe 7 dias de la semana y 12 meses del año.                         (5) 

______________________________  ______________________________ 
______________________________  ______________________________ 

______________________________  ______________________________ 

______________________________  ______________________________ 

______________________________  ______________________________ 

______________________________  ______________________________ 

______________________________  ______________________________ 

       ______________________________ 

       ______________________________ 

       ______________________________ 

       ______________________________ 

       ______________________________ 
 

7. Escribe conjugacion de los siguientes verbos:                                 (5) 

Hablar, Gustar, Estar, Vivir, Tener  
_____________________________________________________________________________  

_____________________________________________________________________________  

_____________________________________________________________________________  

_____________________________________________________________________________  

_____________________________________________________________________________  

 
ORAL ( 10 MARKS) 
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SECOND  SEMESTER ( SESSION-2018-19) 
           SUBJECT: German                      DATE :- 15.02.2019 

           CLASS: – V Sec:-___________             F. M. :- 50 

           Roll no.:-________                          M.O. :- _________ 

NAME:- ________________________________________________________________ 

1) Antworte die Fragen:          [  1 x 5 = 5 ] 
a) Hast du Geschwister? 

Ans.-___________________________________________________________________________________  

b) Wann hast du Geburtstag? 

Ans.-___________________________________________________________________________________ 

c) Ist dein Geschwister nett? 

Ans.-___________________________________________________________________________________ 

d) Wo Wohnst du ? 

Ans.-___________________________________________________________________________________ 

e) Wo liegt Ranchi ? 

Ans.-___________________________________________________________________________________ 

2) Was Passt Zusammen? Verbincle :        [  1 x 5 = 5 ] 

a) Wie heiβen sie?     i) Ich bin elf Jahre all 

b) Wie viele Schewester hast du ?   ii) Ich Heiβe Annelte 

c) Wie alt bist du?     iii) Peter Kohl ist der Vater Von Heinz. 

d) Wie viele sied ihr Zu House?   iv) Ich habe Zwei Schwestern 

e) Wer ist der Vater Von Heinz ?   v) Wir sind vier zu house. 

3) Bau Satze:            [  1 x 5 = 5 ] 
a) der . Lehrer . streng . ist? 

_________________________________________________________________________________________  

b) heiβe . ich . Renate Knopp. 

_________________________________________________________________________________________ 

c) Mutter . ist . von . Peter . sympathisch . die 

_________________________________________________________________________________________ 

d) salzburg . wohnen . und . sabine . in . Markus 

_________________________________________________________________________________________ 

e) ihr . in . Berlin . Wohnt 

_________________________________________________________________________________________ 

4) Stell fragen :           [  1 x 5 = 5 ] 

a) _________________________________________________ ? Ich habe einen Bruder. 

b) _________________________________________________ ? Wir Wohnen in Köln. 



c) _________________________________________________ ? Ja, Ich wohne in Bonn. 

d) _________________________________________________ ?  Ja, Ich habe einen Bruder. 

e) _________________________________________________ ? Wir Sind fünf. 

5) Ergänze – Die , Der , Das          [0.5 x 10 = 5] 

a) ________________ vater    f) ________________ Sohn 

b) ________________Mutter    g) ________________ Freundin 

c) ________________ Haus    h) ________________ Kinder 

d) ________________ Schwester   i) ________________ Tochter 

e) ________________ Eltern    j) ________________ Onkel 

6) Wörter finden:           [  1 x 5 = 5 ] 

 

7) Das ist Aisha. Sie wohnt in Hyderabad. Hyderabad liegt in Telangana. Das ist in Ostindien.         
   Sie Sind Fünf zu Hause. Aishas Eltern, Niten und Nidhi, und Opa Vishal Verma. Siene   
   Bruder Varun auch wohnt mit ihnen. Aisha ist 10 Jahre alt und Varun ist 15. Beide Lernt in  
   Deutsche Shule, Hyderabad. Die Eltern von Aishas Mutter wohnt in Berlin. Die Kinder  
   telefonieren oft mit den Groβeltern. 

a) Richtig oder Falsch:          [  1 x 5 = 5 ] 

i)  Hyderabad liegt in Andhra Pradesh.           ________________________ 

ii) Nitin ist der Vater von Varun.         ________________________ 

iii) Die Kinder teleforeiren viel mit den Groβeltern.   ________________________ 

iv) Sie sind sechs personen zu Hause.      ________________________ 

v) Aisha lernt in Deutsche Schule.     ________________________ 

b) Antwort die Fragen:          [  1 x 5 = 5 ] 

i)  Wo Wohnt Aisha? 

Ans.-____________________________________________________________________________________  

ii)  Wie alt ist Varun? 

Ans.-____________________________________________________________________________________ 

iii)     Wer sind die Eltern von Varun? 

Ans.-____________________________________________________________________________________ 

iv) Wie Heiβt der Opa Von Aisha? 

Ans.-____________________________________________________________________________________ 

v)  Wo liegt Hyderabad? 



Ans.-____________________________________________________________________________________ 
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SECOND SEMESTER ( SESSION-2018-19) 
           SUBJECT: General Knowledge                   DATE :- 18.02.2019 

           CLASS: – V  Sec:-___________          M.O. :- _________ 

           Roll no.:-________                              F. M. :- 50 

   NAME:- ____________________________________________________________ 

I. Answer the following questions:        [ 1 x 10 = 10 ] 
1) Who is the author of the famous book ‘The God of Small Things’? 

Ans:_____________________________________________________________________________ 

2) Who became CEO of Google Inc. in 2015 ? 

Ans:_____________________________________________________________________________ 

3) Who is the first Asian to receive a Nobel Prize ? 

Ans:_____________________________________________________________________________ 

4) Yoda, Darth Vader, Luke Skywalker these are the characters of which movie? 

Ans:_____________________________________________________________________________ 

5) Which language does not use any punctuation? 

Ans:_____________________________________________________________________________ 

6) Who invented the Microwave oven? 

Ans:_____________________________________________________________________________ 

7) Who discovered Penicillin? 

Ans:_____________________________________________________________________________ 

8) In which city Mumtaz Mahal died ? 

Ans:_____________________________________________________________________________ 

9) Which Indian state has the highest tribal population? 

Ans:_____________________________________________________________________________ 

10) What is the capital of Thailand? 

Ans:_____________________________________________________________________________ 

II. Write ‘True’ or ‘False’:         [ 1 x 10 = 10] 
1) Mandarin is the most widely spoken language in the world.   ____________________ 

2) Ruth Mosco Handler invented Barbie doll.     ____________________ 

3) Satya Nadella became CEO of Facebook in 2014.    ____________________ 

4) State Bank of India serves as the Central Bank of India.   ____________________ 

5) Ruskin Bond is the author of the famous book ‘The Room on the Roof’. ____________________ 

6) Walter Frederick Morrison invented Frisbee.     ____________________ 

7) George de Mestrol discovered Velcro.     ____________________ 

8) Bannerghatta National Park is situated in Assam.    ____________________ 

9) The Roman numeral MMXV stands for 2018.    ____________________ 

10) We consult a cardiologist if we have a heart problem.   ____________________ 

III. Who said these famous quotes ?        [ 1 x 5 = 5] 
1) “You have to dream before your dreams can come true.” -_____________________________________ 

2) “If you tell the truth, you don’t have to remember anything.” -__________________________________ 

3) “Two things are infinite: the Universe and human stupidity.” -__________________________________ 

4) “Be the change that you wish to see in the world.”  - __________________________________ 



5) “The rich will do anything for the poor but get off their backs.” -________________________________ 

IV. Unscramble the letters to name the following:      [ 1 x 5 = 5] 
1) First woman CEO of ICICI Bank:   

_____________________________________________ (ADNAHC RAHHCOK) 

2) What do we call  Mumbai Stock Exchange: 

_____________________________________________ (LALAD  TREEST) 

3) Who is the author of the book ‘The Inheritance of Loss’: 

_____________________________________________ (NARIK  SADIE) 

4) Akela, Baloo, Sher Khan are the characters in this movie: 

_____________________________________________ (ELGNUJ   KOOB) 

5) Name a language other than English that does not attach gender to its objects: 

_____________________________________________(NASIPER) 

V. Current Affairs:          [ 1 x 5 = 5] 
1) Which country ends reservation in Government  Job? -_____________________________ 

2) In the memory of which former leader Indian Government has released  

   100 rupee coin? - __________________________________ 

3) Who has been appointed as the Governor of RBI? - ___________________________________ 

4) India’s first Public Sector hotel, which will be run entirely by women and for women,  

     will be opened in which city? - ________________________________________ 

5) Which country opens the first movie theatre after 35 years ? - ________________________________ 

VI. From Jharkhand:          [ 1 x 5 = 5] 

1) Which city of Jharkhand is known as ‘Pittsburg of India’? - ____________________________ 

2) In which city of Jharkhand has the Uranium processing factory been started?-__________________ 

3) In which city of Jharkhand has the Union Cabinet approved a nod to AIIMS? -__________________ 

4) Who is the Brand Ambassador of ‘Momentum Jharkhand’? - _______________________________ 

5) Which city is known as the ‘City of temples’ in Jharkhand? -________________________________ 

VII. Logical reasoning: 
 * What fits in the blanks in each of the following sequences?    [ 1 x 5 = 5] 

 1) Your sibling is your ________________. 

  a) own brother/sister    b) cousins  c) aunt   d) uncle 

 2) __________________: day ,    month :   year 

  a) decade   b) hours  c) century  d) fortnight 

 3) building :   town ,     __________________ : country 

  a) apartment   b) continent  c) planet  d) state 

 4) triangle,  rectangle,  pentagon,  __________________ 

  a)  hexagon   b) heptagon  c) octagon  d) square 

 5) word : sentence  ,    __________________ : chapter 

  a) acknowledgement  b) paragraph  c) book  d) index  

IX. Choose the correct answer:         [ 1 x 5 = 5] 
1) Who invented the game of Basketball. 

a) James Naismith  b) Walt Disney c) Nicholas  d) none of the above 
2) A foul where a player touches the ball with his / her hand or arm is called - 

a) Kick ball  b) head ball  c) hand ball  d) throw ball 
3) The term ‘LONA’ is associated with which game? 

a) Football   b) Kabaddi  c) Kho-Kho  d) Basketball 
4) Which country is going to host Cricket World Cup 2019 ? 

a) Pakistan   b) India  c) England  d) South Africa 
5) Choose the correct option of breathing exercise in Yoga. 

a) Tadasana  b) Pranayam  c) Padmasana  d) Tricon asana 
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SECOND SEMESTER ( SESSION-2018-19) 
          SUBJECT: Computer                     DATE :- 20.02.2019 

           CLASS: – V Sec:-___________          M.O. :- _________ 

           Roll no.:-________                              F. M. :- 30 

   NAME:- ____________________________________________________________ 
 

Q1)  Multiple Choice Question :         [0.5 x 5 = 2.5] 
 

a) Which of the following statement is used to assign the value to variable ? 
 i) PRINT �  ii) LET �  iii)  REM � iv) none of these � 
 
b) Internet Explorer, Google Chrome are the example of  
      i)Computer �    ii) Internet �  iii) Web Sites�  iv) Web Browser� 
 
c) Which of the following is the first step to solve a problem towards a solution 
 i) Identification of Problem �   ii) Input �  iii) Output �    iv) Drawing Plan � 
 
d) What is color code of Cyan ? 
    i) COLOR  2� ii)COLOR 0 � iii) COLOR  1  �  iv)COLOR 3� 
 
e) The first page of any web site is known as 
          i) New Page�  ii) Original page�  iii)Home Page �      iv)Web Page� 
 
Q2) Fill in the blanks :           [0.5 x 5 = 2.5] 

a) The ______________________ key is used to execute the program in QBasic. 

b) Web site address is written in ___________________________ . 

c) The Direction and Number of steps in draw command should be written within ___________________ . 

d)The term used to remove an error is said as ______________________ . 

e) Algorithm is named after the Arabian inventor  ________________________. 

Q3) Write output of following :             [1 x 2 = 2] 
a) CLS       b) A = 1 
    Print “Hello! Hello! Hello!”       B = A  
    End           C = B*5 
           Print C 
            End  
______________________________  ______________________________ 

______________________________  ______________________________ 
 

Q4)  Match the following :           [0.5 x 4 = 2] 
 
a)  *         Algorithm   
 

b)                 Multiplication 
 
c)  Returns the value of  remainder      WI – FI 
 
d)  Step by step plan        MOD 
 

Q5) Write down the function and syntax of the following:      [2 x 2 = 4]  
  Function      Syntax 

a) Print  __________________________________  __________________ 

  __________________________________  __________________ 

  __________________________________  __________________ 
 

P.T.O. 

 



b) Let  __________________________________  __________________ 

  __________________________________  __________________ 

  __________________________________  __________________ 
 
 

Q6) Write short notes on :                [ 2 x 2 = 4] 
 

a) Algorithm -    

__________________________________________________________________________________________

__________________________________________________________________________________________  

__________________________________________________________________________________________ 
 

b) Internet - 

__________________________________________________________________________________________

__________________________________________________________________________________________  

__________________________________________________________________________________________ 
 

Q7) Differentiate between :              [ 2 x 2 = 4] 
 

a) Low Resolution and High Resolution       
              Low Resolution                High Resolution 
  

 
 
 
 
 

 

b) Screen Command and Draw Command  
                  Screen  Command                   Draw Command 
 
 
 
 
 
 
 

 

 

 Q8) Answer the following question :               [2.5 x 2 = 5]  
a) What are pixels ? 
 

__________________________________________________________________________________________  

__________________________________________________________________________________________ 

__________________________________________________________________________________________ 

b)  Write any two uses of Internet. 

__________________________________________________________________________________________

__________________________________________________________________________________________

__________________________________________________________________________________________  

Q9) Write a program in QBasic to draw the following figures :            [ 2 x 2 = 4] 

a)    b)   
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SECOND  SEMESTER ( SESSION-2019 – 20 ) 

          CLASS: – V                                                              DATE :- 03.03.2020 

          SUBJECT:- English                                                      M.M. :- 80 
Section – A (Reading) 

1. Read the following passage and answer the questions given :          
Para – I    Little Billy was born without hands. He had stumps where his hands were supposed to be. His 
sleeves always hung loosely about his shoulders. Yet he was a happy child. He went to a normal school 
like any other child of his age. He loved to play football with his neighbours and watched movies at 
cinema from time to time.   
Para – II  When he was just three years old, his mother taught him how to use his mouth to hold a 
pencil to draw. It was very difficult at first, but Billy was a very determined boy and he soon mastered 
the skill. His mother was very proud of him. She always encouraged him to try his best at whatever he 
was doing. 
Para – III  When Billy first started school, his classmates teased him or avoided him. Nobody played 
with him or talked to him. He felt very dejected and lonely. One day, during an art lesson, his classmates 
saw that he could paint beautiful pictures using his mouth and they were very impressed with his talent. 
Ever since then, they treated Billy like any other child in school and no longer made fun of him or 
avoided him. 
Para – IV  Billy made many friends in school and in the neighbourhood. He was not ashamed of how he 
looked. In fact, he soon inspired people around him. Sometimes, friends who were feeling down or 
discouraged would talk to him or seek his help. He would encourage them to look at the brighter side of 
life instead. 
Para – V   He has shown the world that success only comes to those who live with this motto __ ‘ To be 
the best that I can be.’  

  
a) What was Billy’s physical disability ?                           [ 1 ]  
b) How did Billy’s classmates treat him at first ?             [ 1 ] 
c) Fill in the blank to complete the following sentence:    [ 1 ] 

 Billy could ____________________ using his mouth.   
d) Find words from the passage that mean the following:  [ 1 x 2 = 2 ] 

i) firmness of purpose-________ (para – II) ii) dispirited or discouraged -________ (para – III) 
2. Read the following poem:            

Silver  
Slowly, silently, now the moon 

Walks the night in her silver shoon. 

This way, and that, she peers and sees 

Silver fruit upon silver trees;    (stanza – 1) 

One by one the casements catch 

Her beams beneath the silvery thatch, 

Couched in his kennel, like a dog, 

From their shadowy cots the white breasts peep    (stanza – 2) 

Of doves in silver feathered sleep 

A harvest mouse goes scampering by, 

With silver claws, and silver eye; 

And moveless fish in water gleam, 

By silver reeds in a silver stream.     (stanza – 3) 

                                                    – Walter de la Mare 

 

 

 

 

 

 

 

 



 

a) Select the most suitable answer from the choices given below:                         [ 1 x 2 = 2 ]  
i) The poet describes the moonlight as if it were : 
     a) a thief 
     b) a woman 
     c) a painter   
ii) The dog has paws of silver because:  
     a) they reflect the moon light 
     b) his master had put silver shoes on his paws 
b) Using ideas from the poem, complete the following lines:                          [ 1 x 2 = 2 ]  
i) The moon walks _________ wearing ________. 
ii) She walked here and there and sees __________ fruit upon ___________. 
c) Write a pair of rhyming words from the poem.                                         [ 1 ]  

 

Section – B ( Writing) 

3. You are Sohan / Sohini residing at 16 Fort Road, Lucknow. Write a letter to the   [ 5 ] 
Municipal Commissioner, Lucknow Municipal Corporation, Charbagh Lucknow, pointing out  

            that the street where you live is untidy and without light.    
Or 

 You are Sohan / Sohini residing at 16 Fort Road, Lucknow. Everytime you stop at the red  
             light crossing you find a number of child beggars begging. Write a letter to the Editor of  
            ‘The Times of India’ Hazratganj Lucknow, highlighting the evils of beggary. 

Or 
 You are Rohit / Rohini of class V-D studying  in SM Arya Public School, New Delhi. Write a letter   
            to your Principal asking him to arrange for special Science coaching classes for Science Olympiad.  

4. You recently saw two of your best friends quarrel over a small matter.     [ 5 ] 
 Write a diary entry describing about your feelings in 80 __ 100 words.  

  You can write about:   �  Who are your best friends? 

                                                   �   What happened that day to cause a fight? 

                                                   �   A brief description of the fight. 

                                                   �   How you felt after the fight? 
 Or 

 Your father has been transferred to another city resulting in a change of school for you.            
            Write a diary entry in 80 __ 100 words on your thoughts and feelings about your new school. 
            You can write about: �  Your new place and school 
                                                �   Comparing both the schools ( the old and the new) 
                                                �   Your feelings and determination to adjust 
                                                        and enjoy in the new school as well. 
                                                 

Section – C ( Grammar) 

5. Do as directed:          [ 1 x 10 = 10] 
 a) Mamta thinks animals who live in freedom have a happy look in their eyes. 
                                           (Rewrite the sentence by replacing the underlined words with their antonyms) 
 b) Write the synonyms of: 
      i) condense- ______________      ii) silly- _________________ 
 c) Add appropriate suffixes to make the given words into adjectives: 
      i) thought-  ______________        ii) beauty- ______________ 
 d) Add prefixes to make antonyms:  
      i) perfect- ______________        ii) sane- ______________ 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 e) Add a prefix and suffix to make two words from: ‘equal’- ___________ , ___________ 
 f) Make a sentence of your own with the synonym of : ‘surprised’.  

g) i) My brother likes to drive fast. 
     ii) My brother likes fast cars.               
  
 h) i) Water the plants.  
               ii) Give me a glass of water. 
 i) Write the past and participle form of :  
      i) cut _____   _____   
      ii) awake _____  _____ 
  
 

6. Fill in the blanks with simple present, past or future tense of the given words in the brackets.: 
                                                                                                       [ 0.5 x 8 = 4 ] 
 a) Irfan ____________ six wickets in the last match.( take ) 
 b) My mother ____________ all the household chores herself everyday. ( do ) 
 c) In India it__________ during the month of June, July and August. ( rain ) 
 d) If father comes home early we  ____________to a movie. ( go ) 
 e) I  _____________the weeds if it grows again. (clear) 
 f) The sun  ___________ just five minutes back. ( rise ) 
 g) It _____________ ( be ) so cold last year that the water ___________ ( freeze ) in the tanks. 
7. Fill in the blanks with present continuous or past continuous tense of the given verb:  [ 0.5 x 8 = 4 ] 

a) The train  ____________ at full speed when somebody pulled the chain. ( travel ) 
b) I ____________ when you rang the well. ( sleep ) 
c) Usually, Rohan does not talk to anyone but at present he  ________ for so long with that man.( talk) 
d) My father works in England. Right now he  ____________ in Singapore. ( work ) 
e) We ____________ when you came. ( play ) 
f) The girls ____________ ( sing ) in the music hall right now. 
g) The gardener   ____________ ( water ) the plants when it started raining. 
h) The boys ____________ their lessons in the class at this moment. ( do ) 

8. Choose the correct  preposition to fill in the blanks:     [ 0.5 x 8 = 4 ]  
a) We travelled ____________ foot to the pilgrimage site. ( on / with) 
b) She comes to school ____________ the school bus. ( with / by ) 
c) What do you like doing ____________ Saturdays? ( in / on ) 
d) I saw something interesting ____________ television. ( in / on ) 
e) He jumped ____________ the wall to land ____________ the garden. ( over, into / above, in ) 
f) I was talking ____________ my friends.  ( with / to)  
g) I met a beggar ____________the way. ( in / on) 

9. Identify the adverbs in the following sentences and state their kinds:        [ 1 x 4 = 4 ] 
 a) Speak gently to the poor. 
 b) She frequently visits us. 
 c) The guests will arrive tomorrow. 
 d) The servant has gone upstairs. 
10. Combine the following sentences using appropriate conjunctions.        [ 1 x 4 = 4 ] 
 a) Horses gallop fast. Zebras gallop fast. 
 b) Wild animals are looked after well at the zoo. Wild animals prefer to be free. 
 c)  Eat your food now. It will get cold. 
 d)  He is rich. He is unhappy. 

 
 

 

 

 

 

 

 

 

 

 

 

{  Identify the part of speech of the underlined words.  } 

{  Identify the part of speech of the underlined words.  } 



 

Section – D ( Literature) 

11. Answer the following questions with reference to the context:          [ 2 x 4 = 8 ] 
a) I like to see it lap the miles,  

And lick the valleys up, 
And stop to feed itself at tanks……………..   (The Railway Train) 

    i) What does ‘lick the valleys up’ mean here? 
         ii) How does the railway train feed itself at tanks? 
b) “You have already been answered!”  (Three Questions) 

    i) Who had already been answered ? 
    ii) What answer is referred to here ? 

c) “Oh! Aunt Polly, come! Tom’s dying!” ( Tom loses a Tooth) 
    i) Who said these words ? 
    ii) Was Tom really dying ? 

d) “Look child, what is before you!” ( The Lost Child ) 

          i) Who said these words to whom ? 
         ii) Where were they ? 

12. Answer the following questions in brief: ( any three)              [ 2 x 3 = 6 ] 
 a) Why did Tom find Monday mornings miserable ? ( Tom loses a Tooth) 

 b) What was unique about the Giant’s ears ? What type of teeth did he have ? ( The B.G.F.) 
c)  What is the concept of ‘troops barging in a battle’ being portrayed here ? (From a Railway Carriage ) 

d)  What is ‘it’ in the poem? What is ‘it’ compared to ? Why does ‘it’ complain?  (The Railway Station) 

13. Answer the following questions in detail:       [ 3 x 2 = 6 ] 
a) Describe the imagery of the mustard field and the dragon flies. (The Lost Child ) 
b) What answers did the learned men give to the king ? ( Three Questions) 

14. Write the meanings of the following words.      [ 1 x 6 = 6 ] 

 a) repelled    b) dismantled c) revived      

d) quarry    e) freaky          f) lumping 

15. Make sentences using the following words:      [ 1 x 4 = 4 ] 

 a) punctual b) hermit c) conversation       d) meadows 
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SECOND SEMESTER ( SESSION-2019 – 20 ) 

          CLASS: – V                                                              DATE :- 26.02.2020 

          SUBJECT:- Social Science                                         M.M. :- 80 
 

1. Define:           [ 1 x 9 = 9 ] 

 a) Silos     b) Pollutants    c) Furnace 
 d) Philosopher     e) Surgeon    f) Sati 
 g) Sepoy     h) boycott    i) expressways 

2. Answer in detail:          [2.5 x 8 = 20] 
a) In the prairies, machines have almost replaced manual labour. Explain. 
b) Differentiate between open dumping and landfills. 
c) Why is Dhyan Chand famous? 
d) What helped the British to suppress the first war of Independence? 
e) How did modern education lead to the rise of nationalism in India? 
f) Why did Gandhiji withdraw the Non-cooperation movement? 
g) What is recycling? What are its benefits? 
h) How are newspapers and magazines useful to us? 

3. Answer in short:          [ 1.5 x 6 = 9 ] 
a) What are natural disasters? Give examples. 
b) What are grasslands? Name two animals found in Prairies. 
c) List three causes of noise pollution. 
d) Which is one of the new R’s of waste management? Explain its meaning. 
e) Who was Jamshetji Tata? Which city is named after him? 
f) Who was Sushruta? Write any one achievement of Sushruta. 

4. Answer in one sentence:         [ 1 x 12 = 12] 
a) Name the minerals found in Prairies. 
b) Give two causes of air pollution. 
c) Which bill recently faced the Indian protest and stirred the nation? 
d) What is Richter scale? 
e) How is flood helpful to farmers? 
f) Where and with how many delegates was the first session of Indian National Congress held? 
g) Name two moderate leaders. 
h) What is a Tablet? 
i) Which two seas does the Suez Canal join? 
j) Which cleaner fuel has been introduced in Ranchi’s auto-rickshaws? 
k) Which two elements were discovered by Marie Curie? 
l) What was the other name of the First War of Independence? 

5. Name them:           [ 1 x 10 = 10 ] 
a) He invented telephone -______________ 
b) Gandhiji’s two principles -______________ , ______________ 
c) Longest river in North America -______________ 
d) A disease caused by drinking polluted water -______________ 
e) A furnace used for burning waste -______________ 
f) Maximum damage during earthquake is caused near -______________ 
g) First Asian to win Nobel prize for literature  -______________ 
h) The city which was destroyed by an atomic bomb -______________ 
i) It means ‘of one’s own country’ -______________ 
j) The railway which runs from Moscow to Vladivostok -______________ 

 

 

 

 

 

 

 

 



6. Fill in the blanks: 
a) Most of the grasslands are in the  __________ zone.
b)  __________ pressure, 

of our environment.
c) __________is a funnel shaped storm.
d) __________wrote ‘Sense and Sensibility’.
e) The Revolt of 1857 was led by __________ at Awadh.
f) __________ was led by Subhas 

 
7. Write  ‘True’ or ‘False’:

a) Wheat is cultivated in the western part of Prairies.
b) Quit India Movement was also called as Swadeshi Movement.
c) Prairies lie between Canada and Alaska.
d) Both air and noise pollution is cause
e) All waste materials can be recycled.
f) In India floods are common in Southern Plateau.
g) The birthday of Sarvepalli Radhakrishnan is celebrated as Doctors Day.
h) The extremists were in favour of strikes and boycotts.
i) U.S.A. has worlds largest rail
j) The axis powers were defeated in the second world war.

8. Match  column A with column B.

  Column – A  
a) Sunderlal Bahuguna
b) Radium  
c) Benito Mussolini 
d) Veer Savarkar 
e) James Watt 
f) Mahatma Gandhi 
g) Abraham Lincoln 
h) Forest fires 
i) Milkha Singh 
j) Versailles  

9. Complete the timeline:( Write only the years)

  

 

     
Most of the grasslands are in the  __________ zone. 
__________ pressure, pollution and deforestation are some factors that disturb the delicate balance 
of our environment. 
__________is a funnel shaped storm. 
__________wrote ‘Sense and Sensibility’. 
The Revolt of 1857 was led by __________ at Awadh. 
__________ was led by Subhas Chandra Bose. 

Write  ‘True’ or ‘False’:     
Wheat is cultivated in the western part of Prairies. 
Quit India Movement was also called as Swadeshi Movement.
Prairies lie between Canada and Alaska. 
Both air and noise pollution is caused by vehicles. 
All waste materials can be recycled. 
In India floods are common in Southern Plateau. 
The birthday of Sarvepalli Radhakrishnan is celebrated as Doctors Day.
The extremists were in favour of strikes and boycotts. 
U.S.A. has worlds largest railway network.                                                                                                                 
The axis powers were defeated in the second world war.

Match  column A with column B.    

     Column 
Sunderlal Bahuguna    i) 

     ii) 
     iii) 

    iv) 
    v) 

     vi) 
     vii) 
    viii) 
    ix) 
    x) 

Complete the timeline:( Write only the years)  

 

    [ 1 x 6 = 6 ]

pollution and deforestation are some factors that disturb the delicate balance 

    [0.5 x 10 = 5 ]

Quit India Movement was also called as Swadeshi Movement. 

The birthday of Sarvepalli Radhakrishnan is celebrated as Doctors Day. 

way network.                                                                                                                 
The axis powers were defeated in the second world war. 

    [ 0.5 x 10 = 5 ]

Column – B  
France 
air pollution 
Satyagraha 
revolutionary 
X-ray 
an environmentalist 
Italy 
Steam engine 
ended slavery 
Sports person 

    [ 0.5 x 8 = 4 ]

[ 1 x 6 = 6 ] 

pollution and deforestation are some factors that disturb the delicate balance 

[0.5 x 10 = 5 ] 

way network.                                                                                                                 

[ 0.5 x 10 = 5 ] 

[ 0.5 x 8 = 4 ] 
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SECOND SEMESTER ( SESSION-2019 – 20 ) 

          CLASS: – V                                                              DATE :- 05.03.2020 

          SUBJECT:- Hindi                                                       M.M. :- 80 
[k.M & d[k.M & d[k.M & d[k.M & d    

1111----    fuEufyf[kr xn~;ka”k dks i<+dj fn, x, iz”uksa ds mÙkj fyf[k, &fuEufyf[kr xn~;ka”k dks i<+dj fn, x, iz”uksa ds mÙkj fyf[k, &fuEufyf[kr xn~;ka”k dks i<+dj fn, x, iz”uksa ds mÙkj fyf[k, &fuEufyf[kr xn~;ka”k dks i<+dj fn, x, iz”uksa ds mÙkj fyf[k, &                    [ 1 x 5 = 5 ]    
,d ckj eSa dk”kh tk jgk Fkk] ml txg ,d rjQ cgqr cM+k tyk”k; vkSj nwljh rjQ Å¡ph nhokj FkhA ml LFkku ij 
cgqr ls canj jgrs FksA dk”kh ds canj cM+s nq’V FksA vc muds efLr’d esa ;g fopkj iSnk gqvk fd os eq>s ml jkLrs ls u 
tkus nsaA os fodV fpRdkj ¼rst vkokt+½ djus yxs vkSj >V vkdj esjs iSjksa dks tdM+us yxsA mudks fudV ns[kdj eSa  
Hkkxus yxk] fdUrq eSa ftruk T+;knk t+ksj ls nkSM+us yxk] os mruh gh rsth ls vkdj eq>s dkVus yxsA var esa muds gkFk 
ls NqVdkjk ikuk vlaHko çrhr gqvkA Bhd mlh le; ,d vifjfpr euq’; us vkdj eq>s vkokt nh] Þcanjksa dk lkeuk 
djksAß eSa Hkh tSls myVdj muds lkeus [kM+k gqvk oSls gh os ihNs gVdj Hkkx x,A blls ;g irk pyrk gS fd tks dqN 
Hkh Hk;kud gS] mldk lkeuk lkgliw.kZ rjhds ls djksA 
iz”u &iz”u &iz”u &iz”u &    
d) dk”kh ds canj dSls Fks \ 
[k) ys[kd dks Mjkus ds fy, canjksa us D;k fd;k \ 
x) bl x|ka”k ls D;k f”k+{kk feyrh gS \ 
?k) fn, x, x|ka”k esa ls nks fØ;k “kCn Nk¡Vdj fy[ksa A 
³) fn, x,  x|ka”k esa ls nks fo”ks’k.k “kCn Nk¡Vdj fy[ksa & 
  

[k.M & [k ¼O;kdj.k½[k.M & [k ¼O;kdj.k½[k.M & [k ¼O;kdj.k½[k.M & [k ¼O;kdj.k½    
2222----    fn, x, iz”uksa ds mÙkj fy[ksa &fn, x, iz”uksa ds mÙkj fy[ksa &fn, x, iz”uksa ds mÙkj fy[ksa &fn, x, iz”uksa ds mÙkj fy[ksa &                                        
    d) loZuke rFkk lkoZukfed fo”ks’k.k esa mnkgj.k lfgr varj Li’V djsaA     [ 3 ] 
 [k) /kkrq fdls dgrs gSa \ mnkgj.k lfgr fy[ksaA       [ 2 ] 
 x) fojke fpg~u fdUgsa dgrs gSa \ fdUgh nks fojke fpg~uksa ds uke fy[ksaA     [ 2 ] 
3333----    funsZ”kkuqlkj ç”uksa ds mÙkj fy[ksa %&funsZ”kkuqlkj ç”uksa ds mÙkj fy[ksa %&funsZ”kkuqlkj ç”uksa ds mÙkj fy[ksa %&funsZ”kkuqlkj ç”uksa ds mÙkj fy[ksa %&        
    dddd))))    fn, x, okD;ksa ds dky cnydj iwjk okD; iqu% fy[ksa %&fn, x, okD;ksa ds dky cnydj iwjk okD; iqu% fy[ksa %&fn, x, okD;ksa ds dky cnydj iwjk okD; iqu% fy[ksa %&fn, x, okD;ksa ds dky cnydj iwjk okD; iqu% fy[ksa %&     [ 1 x 4 = 4 ]  

i) “kk;n dy vksys fxjsaA      ¼ Hkwrdky ½ 
ii)  nknkth us dgkuh lqukbZ gksxhA  ¼ orZekudky ½ 
iii) dy gok pysxhA   ¼ orZekudky ½ 
iv) rqeus xkuk xk;k gksxkA  ¼ Hkfo’;r~dky ½ 

 [k[k[k[k))))    fn, x, okD;ksa dks “kqn~/k dj iwjk okD; iqu% fy[ksa %&fn, x, okD;ksa dks “kqn~/k dj iwjk okD; iqu% fy[ksa %&fn, x, okD;ksa dks “kqn~/k dj iwjk okD; iqu% fy[ksa %&fn, x, okD;ksa dks “kqn~/k dj iwjk okD; iqu% fy[ksa %&     [ 1 x 4 = 4 ] 
i)    n”kjFk ds pkjksa iq=ksa dk uke crkvks \       
ii)  mlds ekrkth vk, gSaA   
iii) mls BaMk nw/k dk fÝt fiykvksA    
iv) cl pkykd cgqr lko/kkuh ls cl pyk jgk FkkA   

 xxxx))))    vusd “kCnksa ds fy, ,d “kCn fy[ksa %&vusd “kCnksa ds fy, ,d “kCn fy[ksa %&vusd “kCnksa ds fy, ,d “kCn fy[ksa %&vusd “kCnksa ds fy, ,d “kCn fy[ksa %&                            [ 1 x 3 = 3 ]    

i)    ftl /kjrh ij dqN iSnk ugha gksrkA       
ii)  fcuk osru ds dk;Z djus okykA 
iii) tks {kek ds ;ksX; gksA 

 ?k?k?k?k))))    fn, x, eqgkojksa ds vFkZ fy[ksa %&fn, x, eqgkojksa ds vFkZ fy[ksa %&fn, x, eqgkojksa ds vFkZ fy[ksa %&fn, x, eqgkojksa ds vFkZ fy[ksa %&                                [ 1 x 3 = 3 ]    

i)    ,d vkSj ,d X;kjg gksukA    
ii)  dksYgw dk  cSy gksukA 
iii) [kjh&[kksVh lqukukA 

                            

    

    

    

    

    

    



³³³³))))    fn, x, “kCnksa ds foykse “kCn fy[ksa %&fn, x, “kCnksa ds foykse “kCn fy[ksa %&fn, x, “kCnksa ds foykse “kCn fy[ksa %&fn, x, “kCnksa ds foykse “kCn fy[ksa %&                            [ 1 x 3 = 3 ]    

i)    çkphu x ----------------------------  
ii)  ;”k x ---------------------------- 
iii) lEeku x ----------------------------  
pppp))))    lgh le:ih fHkUukFkZd “kCn pqudj Hkjsa %&lgh le:ih fHkUukFkZd “kCn pqudj Hkjsa %&lgh le:ih fHkUukFkZd “kCn pqudj Hkjsa %&lgh le:ih fHkUukFkZd “kCn pqudj Hkjsa %&                            [ 1 x 3 = 3 ]    

i)  fpfM+;k vius cPpksa ds fy, ---------------------------- cukrh gSA ¼ uhj@uhM+ ½ 
ii) eksgu ds vPNs çn”kZu dks ns[krs gq, mlds i<+kbZ dk ---------------------------- ekQ dj fn;k x;kA ¼ “kqYd@”kqDy ½ 
iii) lqJh yrk eaxs”kdj dks ---------------------------- lezkKh ekuk tkrk gSA¼ lqj@”kwj ½ 

                            

        NNNN))))    cq>ks rks tkusa %&cq>ks rks tkusa %&cq>ks rks tkusa %&cq>ks rks tkusa %&                                        [ 1 x 3 = 3 ]    

i)    ,d Fkky eksfr;ksa ls Hkjk 
    lcds flj ij vkSa/kk /kjk 
    pkjksa rjQ og Fkky fQjs 
    eksrh mlls ,d u fxjsA 
ii)  ^j* ls cw>ks bldk uke 
    lkeku ck¡/kuk bldk dkeA 
iii) iwjs fo”o esa cksyh tk, 
    Hkk’kkvksa dh egkjkuh dgyk,A 

                            tttt))))    fn, x, okD;ksa esa fojke fpg~u yxk,¡ %&fn, x, okD;ksa esa fojke fpg~u yxk,¡ %&fn, x, okD;ksa esa fojke fpg~u yxk,¡ %&fn, x, okD;ksa esa fojke fpg~u yxk,¡ %&                            [ 1 x 2 = 2 ]    

i)    vjs jkenkl rqe vk x, 
ii)  eqa çsepan fgUnh ds egku lkfgR;dkj Fks 

                            >>>>))))    fn, x, okD;ksa esa ç;qDr fØ;kvksa ds Hksn ffn, x, okD;ksa esa ç;qDr fØ;kvksa ds Hksn ffn, x, okD;ksa esa ç;qDr fØ;kvksa ds Hksn ffn, x, okD;ksa esa ç;qDr fØ;kvksa ds Hksn fy[ksa %&y[ksa %&y[ksa %&y[ksa %&                        [ 1 x 2 = 2 ]    

i)    nknkth Vgy jgs gSaA 
ii)  v/khj us dke dj fy;kA 

                            ¥¥¥¥))))    fn, x, “kCnksa ls fo”ks’k.k “kCn cuk,¡ %&fn, x, “kCnksa ls fo”ks’k.k “kCn cuk,¡ %&fn, x, “kCnksa ls fo”ks’k.k “kCn cuk,¡ %&fn, x, “kCnksa ls fo”ks’k.k “kCn cuk,¡ %&                            [ 0.5 x 2 = 1 ]    

i)    xzke  
ii)  Hkkjr 

[k.M & x ¼lkfgR;½[k.M & x ¼lkfgR;½[k.M & x ¼lkfgR;½[k.M & x ¼lkfgR;½    
4444----    fn, x, iz”uksa ds mÙkj ,d “kCn esa fy[ksa &fn, x, iz”uksa ds mÙkj ,d “kCn esa fy[ksa &fn, x, iz”uksa ds mÙkj ,d “kCn esa fy[ksa &fn, x, iz”uksa ds mÙkj ,d “kCn esa fy[ksa &                                [ 1 x 6 = 6 ]    

d) Hkys yksxksa ij fdldk çHkko ugha iM+rk \ 
[k) i`Fohjkt ds dfofe= dk D;k uke Fkk \ 
x) Hkkjr ds lcls Å¡ps ck¡/k dk D;k uke gS \ 
?k) jkds”k “kekZ o muds lkFkh fdrus fnu varfj{k esa jgdj okil vk, Fks \ 
³) tc tokgjyky usg: us ;g i= fy[kk rc bafnjk xk¡/kh fdrus o’kZ dh Fkh \ 
p) gkWy esa cSBk cw<+k lk O;fDr dkSu Fkk \ 

5555----    fn, x, iz”uksa ds mÙkj ,d okD; esa fy[ksa fn, x, iz”uksa ds mÙkj ,d okD; esa fy[ksa fn, x, iz”uksa ds mÙkj ,d okD; esa fy[ksa fn, x, iz”uksa ds mÙkj ,d okD; esa fy[ksa ((((    okD; esa mÙkj fy[kuk vfuok;Z gS okD; esa mÙkj fy[kuk vfuok;Z gS okD; esa mÙkj fy[kuk vfuok;Z gS okD; esa mÙkj fy[kuk vfuok;Z gS ))))            [ 1 x 6 = 6 ]    
d) jLlh ds mnkgj.k ls D;k crk;k x;k gS \ 
[k) i`Fohjkt pkSgku dks fdldh otg ls gkj dk eq¡g ns[kuk iM+k \ 
x) jkds”k “kekZ dk tUe dc vkSj dgk¡ gqvk Fkk \ 
?k) lkSj txr fdls dgrs gaS \ 
³) nhid us jkLrs esa xM+k gqvk iRFkj D;ksa m[kkM+k \ 
p½ Hkkjr ds nks çfln~/k ck¡/k dkSu ls gaS \ 

    
    
    
    
    
    
    
    
    
    
    
    



6666----    nh?kZ mÙnh?kZ mÙnh?kZ mÙnh?kZ mÙkjh; iz”uksa ds mÙkj fy[ksa &kjh; iz”uksa ds mÙkj fy[ksa &kjh; iz”uksa ds mÙkj fy[ksa &kjh; iz”uksa ds mÙkj fy[ksa &                                    [ 2 x 2 = 4 ]    
d) lekpkj i=ksa esa fn, x, foKkiu esa D;k fy[kk Fkk \ 
[k) lwjt dks i`Foh vkSj nwljs xzgksa dk ckck D;ksa dgrs gSa \ 

7777----    fjDr LFkkuksa dh iwfrZ djsa &fjDr LFkkuksa dh iwfrZ djsa &fjDr LFkkuksa dh iwfrZ djsa &fjDr LFkkuksa dh iwfrZ djsa &                                        [ 1 x 4 = 4 ]    
d) lwjt tyrh gqbZ---------------------------- dk xje xksyk gSA 
[k) lu~ ---------------------------- esa jkds”k “kekZ ok;qlsuk ls fgUnqLrku ,jksukWfVDl fyfeVsM esa dke djus pys x,A 
x) tgk¡ ls unh fudyrh gS] mls unh dk ---------------------------- dgrs gSaA 
?k) os pkgrs Fks fd muds v/;kidksa esa f”k{kk ds lkFk&lkFk Js’B ---------------------------- xq.k  Hkh gksA 

8888----    fn, x, nksgs dk vFkZ fy[ksaAfn, x, nksgs dk vFkZ fy[ksaAfn, x, nksgs dk vFkZ fy[ksaAfn, x, nksgs dk vFkZ fy[ksaA                                        [ 1 x 3 = 3 ]    
 fon~;k /ku mn~;e fcuk] dgkS tq ikoS dkSuA 
 fcuk Mqyk;s uk feyS] T;ksa ia[kk dks ikSuAA 
                vFkok] 
       tks jghe mÙke çÑfr] dk dfj ldr dqlaxA 
 panu fc’k C;kir ugha] fyiVs jgr HkqtaxAA 
9999----    fdlus] fdlls dgk fdlus] fdlls dgk fdlus] fdlls dgk fdlus] fdlls dgk \\\\    fy[ksaAfy[ksaAfy[ksaAfy[ksaA                                        [ 1 x 3 = 3 ]    

d) **,s “kk;j! rw gh vius ekfyd dks le>kA** 
[k) **lkjs ns”k dh vk¡[ksa rqe ij fVdh gqbZ gSaA ** 
x) **;s gSa j?kqdqy lgk; ftUgksaus vki lc dks ;gk¡ cqyk;k gSA** 

10101010----    fn, x, “kCnksa ds vFkZ fy[ksa &fn, x, “kCnksa ds vFkZ fy[ksa &fn, x, “kCnksa ds vFkZ fy[ksa &fn, x, “kCnksa ds vFkZ fy[ksa &                                    [ 1 x 2 = 2 ]    
d) lcc  [k) “kkS;Z 

11111111----    ewY;ijd iz”u & ewY;ijd iz”u & ewY;ijd iz”u & ewY;ijd iz”u & ¼nks okD;ksa esa mÙkj fy[kuk vfuok;Z gSA½                            [ 2 ]    
ns”k ds uofuekZ.k ;k rjDdh ds fy, D;k&D;k fd;k tkuk pkfg, \ nks okD;ksa esa vius lq>ko fy[ksaA 

[k.M & ?k[k.M & ?k[k.M & ?k[k.M & ?k    
12121212----    i= ys[kui= ys[kui= ys[kui= ys[ku    %&Nk=o`fÙk ikus ds fy, ç/kkukpk;Z egksn; dks i= fy[ksa%&%&Nk=o`fÙk ikus ds fy, ç/kkukpk;Z egksn; dks i= fy[ksa%&%&Nk=o`fÙk ikus ds fy, ç/kkukpk;Z egksn; dks i= fy[ksa%&%&Nk=o`fÙk ikus ds fy, ç/kkukpk;Z egksn; dks i= fy[ksa%&                    [ 5 ] 

                    vFkok]vFkok]vFkok]vFkok]    

                vius chekj fe= dks tYnh LoLFk gksus dh çsj.kk nsrs gq, i= fy[ksa %&vius chekj fe= dks tYnh LoLFk gksus dh çsj.kk nsrs gq, i= fy[ksa %&vius chekj fe= dks tYnh LoLFk gksus dh çsj.kk nsrs gq, i= fy[ksa %&vius chekj fe= dks tYnh LoLFk gksus dh çsj.kk nsrs gq, i= fy[ksa %&    

13131313----    fdUgha ,d fo’k; ij vuqPNsn fy[ksa %&fdUgha ,d fo’k; ij vuqPNsn fy[ksa %&fdUgha ,d fo’k; ij vuqPNsn fy[ksa %&fdUgha ,d fo’k; ij vuqPNsn fy[ksa %&                                    [ 5 ] 
d) vk/kqfud ;qx esa foKkiu dk egÙo     [k) fo|kFkhZ thou esa ifjJe dk egÙo 
x) LoPNrk dk egÙo  
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SECOND  SEMESTER ( SESSION-2019 – 20 ) 

          CLASS: – V                                                                  DATE :- 28.02.2020 

          SUBJECT:- Maths                                                       M.M. :- 80 
Section – A  

 
1. Fill in the blanks:          [ 1 x 12 = 12 ] 

a) When all the sides of a triangle are unequal, it is called a __________ triangle. 

b)  
100

150
= ______ % 

c) Average of 1 + 2 + 3 + 4 + 5 is __________. 
d) Fill the missing number in the series-   1, 3, 6, 10,  ____, 21 
e) Represent 14 by Tally marks  __________. 
f) Pictorial representation of data is known as__________. 
g) The normal body temperature is _____ 0F. 
h) Celsius scale is named after the astronomer __________. 
i) Amount = simple interest + __________. 
j) A complete angle measures __________. 
k) Sum of the length of two sides of a triangle is __________ than the length of the third side. 
l) If the side of a square is doubled, its perimeter will be __________ . 

2. Write True or False for the following statements:      [0.5 x 10 = 5 ] 
a) The sum of the angles of a triangle is 1800. 
b) Collinear points lie on the same line. 
c) Speed = Distance x Time. 
d) Area of a square is four times of its side. 
e) 50% of 100 paise is 75 paise. 
f) The unit of measurement of temperature is inches. 
g) Circles with different radii but the same centre are called concentric circles. 
h) The angle between two perpendicular lines is 900. 
i) Two lines that meet at no point, when extended on either sides are said to be intersecting lines. 
j) Two line segments may intersect at two points. 

3. Match the column:          [ 1 x 5 = 5 ] 

     Column – A           Column -  B  

a) Obtuse angled triangle   i) The three sides are of different length  
                                                                       and one angle is more than 900  

b) Isosceles triangle    ii) Boundary of the circle  
c) Obtuse scalene triangle   iii) Portion of the circumference 
d) Arc      iv) Two sides are equal 
e) Circumference    v) One angle is greater than 900 

Section – B  
 
4. Do as directed:          [ 2 x 12 = 24 ] 

 a) Convert 1130 F into Celsius scale. 
 b) Find the average of 0.8, 0.08, 0.008, 0.0008 
 c) The perimeter of a square is 160 m. Find the length of its side. 

d) Find the supplementary angle of  1340. 
 e) Find the time taken to cover a distance of 300 km going at a speed of 120 km/hr. 
  
 
 
 
 
 
 
 
 
 
 

 



f) Find the average of first 10 natural numbers.
 g) Find the circumference of the circle whose radius is 42 cm.
 

 h) Express 25 ( square number ) as the sum of odd numbers.
 i) Aman gets 15 out of 20 marks in a weekly test. What percent of marks does he get ?
 j) Find the surface area of a cube whose side is 9 cm.
 k) Draw an angle of measure 110
 l)  In the given figure, name any two angles which appear to be obtuse angles.

    
5. Solve:   
 a) Two angles are complementary angles. One of the angle is 4 times of the other. Find the magnitude 
                 of the angle. 
 b) Find the interest payable on 
                 months. 
 c) A man sold two sewing machines costing him 
                for ` 1000. The second was defective. Find the net profit and the profit %.
 d) A farmer wishes to fix wire fencing ar
                the wire material is `
 e) Ravi runs ten times around a square track and covers 4 km. Find the length of the track.
 f) A supermarket carried out a survey to find out which fruit people liked the most. The bar chart given 
                below shows the result. Observe the bar graph and answer the following questions.

    
(1) How many people took part in the survey?
(2) What fraction of the peo
(3) Which fruit is liked by most people?

6. Solve   
 a) The following table shows the daily production of T.V. sets in an industry during a week.
 
 
 
  Represent the above information through a bargraph.
 

b) How many boxes each of size 10 cm x 8 cm x 5 cm can be packed in a carton of size 1 m x 72 cm x 
     50 cm? 

 

c) A motorist drives 194 km in the first 3 hours of his journey and 330 km in the next 4 hours of his  
    journey. What was his average speed during the journey?

 

d) A badminton court is enclosed with wire nets. The court measures 15 m by 7.5 m and a space of 1 m 
    width has to be left on all four sides, between the enclosure and the court. What is the perimeter of the 
    boundary? 

  
 
 

Day Monday
Production 250

first 10 natural numbers. 
g) Find the circumference of the circle whose radius is 42 cm.

h) Express 25 ( square number ) as the sum of odd numbers.
i) Aman gets 15 out of 20 marks in a weekly test. What percent of marks does he get ?

ce area of a cube whose side is 9 cm. 
k) Draw an angle of measure 1100. Name its arms and vertex.
l)  In the given figure, name any two angles which appear to be obtuse angles.

 
     

a) Two angles are complementary angles. One of the angle is 4 times of the other. Find the magnitude 

b) Find the interest payable on ` 25000 at 9 % p.a. for 6 months. Find the amount payable after 6 

c) A man sold two sewing machines costing him ` 900 each. One he sold for 
1000. The second was defective. Find the net profit and the profit %.

d) A farmer wishes to fix wire fencing around his rectangular field measuring 25 m by 20 m. The cost of 
` 25.50 per m. Find the cost of fencing.

e) Ravi runs ten times around a square track and covers 4 km. Find the length of the track.
ried out a survey to find out which fruit people liked the most. The bar chart given 

below shows the result. Observe the bar graph and answer the following questions.

 
How many people took part in the survey? 
What fraction of the people taking part indicated bananas as their favourite fruit?
Which fruit is liked by most people? 

     
a) The following table shows the daily production of T.V. sets in an industry during a week.

Represent the above information through a bargraph.

How many boxes each of size 10 cm x 8 cm x 5 cm can be packed in a carton of size 1 m x 72 cm x 

c) A motorist drives 194 km in the first 3 hours of his journey and 330 km in the next 4 hours of his  
journey. What was his average speed during the journey? 

d) A badminton court is enclosed with wire nets. The court measures 15 m by 7.5 m and a space of 1 m 
width has to be left on all four sides, between the enclosure and the court. What is the perimeter of the 

 

 

Monday Tuesday Wednesday T
250 200 150 50

g) Find the circumference of the circle whose radius is 42 cm. 

h) Express 25 ( square number ) as the sum of odd numbers. 
i) Aman gets 15 out of 20 marks in a weekly test. What percent of marks does he get ? 

. Name its arms and vertex. 
l)  In the given figure, name any two angles which appear to be obtuse angles. 

    [ 3 x 6 = 18 ]
a) Two angles are complementary angles. One of the angle is 4 times of the other. Find the magnitude 

25000 at 9 % p.a. for 6 months. Find the amount payable after 6 

900 each. One he sold for ` 950 and the second 
1000. The second was defective. Find the net profit and the profit %. 

ound his rectangular field measuring 25 m by 20 m. The cost of 
25.50 per m. Find the cost of fencing. 

e) Ravi runs ten times around a square track and covers 4 km. Find the length of the track. 
ried out a survey to find out which fruit people liked the most. The bar chart given 

below shows the result. Observe the bar graph and answer the following questions. 

 

ple taking part indicated bananas as their favourite fruit? 

    [ 4 x 4 = 16 ]
a) The following table shows the daily production of T.V. sets in an industry during a week. 

Represent the above information through a bargraph. 

How many boxes each of size 10 cm x 8 cm x 5 cm can be packed in a carton of size 1 m x 72 cm x 

c) A motorist drives 194 km in the first 3 hours of his journey and 330 km in the next 4 hours of his  
 

d) A badminton court is enclosed with wire nets. The court measures 15 m by 7.5 m and a space of 1 m 
width has to be left on all four sides, between the enclosure and the court. What is the perimeter of the 

Thursday Friday Saturday 
50 100 200 

[ 3 x 6 = 18 ] 
a) Two angles are complementary angles. One of the angle is 4 times of the other. Find the magnitude  

25000 at 9 % p.a. for 6 months. Find the amount payable after 6  

950 and the second  

ound his rectangular field measuring 25 m by 20 m. The cost of  

ried out a survey to find out which fruit people liked the most. The bar chart given  

[ 4 x 4 = 16 ] 

How many boxes each of size 10 cm x 8 cm x 5 cm can be packed in a carton of size 1 m x 72 cm x    

c) A motorist drives 194 km in the first 3 hours of his journey and 330 km in the next 4 hours of his   

d) A badminton court is enclosed with wire nets. The court measures 15 m by 7.5 m and a space of 1 m  
width has to be left on all four sides, between the enclosure and the court. What is the perimeter of the  
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1. Define :           [ 2 x 4 = 8 ] 

 a) Elasticity  b) Greenhouse effect  c) Cover crops  d) Epicentre 

2. Answer in short:          [ 2 x 5 = 10 ] 
e) Why are cooking utensils made of metals? 
f) Why should we use renewable energy? 
g) List any two uses of artificial satellites. 
h) How can you infer that the Earth is hot inside? 
i) Sunil uses a ramp to lift load on a truck. 
      (i) What kind of simple machine is mentioned above? 
      (ii) Give two other examples of this kind of simple machine used in everyday life. 

3. Answer in one sentence:         [ 1 x 4 = 4 ] 
e) Why is the ozone layer important? 
f) What is limestone formed from? 
g) What is meant by density of a substance? 
h) Name the instrument used to measure an earthquake. 

5.      Answer in detail:           [ 3 x 5 = 15] 
e) Explain the occurrence of lunar eclipse. 
f) List three things which happen as a result of drought. 
g) Write three human activities that bring about soil erosion. 
h) List three characteristics of minerals. 
i) Name the metamorphic rocks formed from the following sedimentary rocks. Also write one use for  
      each of the metamorphic rock formed. 
       (i) shale               (ii) sandstone 

5. Give reasons:           [ 2 x 2 = 4 ] 
c) A person standing on the moon would feel that his weight has reduced. 
d) Railway tracks always show fixed gap between the lengths of rail. 

6. Differentiate between the following on the basis of what is given in the brackets: [ 2 x 2 = 4 ] 
      a) Sandy soil and Clayey soil        ( water holding capacity and size of particles ) 
 b) Igneous rock and Sedimentary rock        ( formation ) 

7. Arrange the given words in proper sequence beginning with the word that is underlined:  
             [ 1 x 2 = 2 ] 
 a) subsoil,  topsoil,  bedrock  
 b) New Moon, Waxing gibbous, Full Moon, Waxing crescent, First quarter  

8. Name them:           [ 1 x 6 = 6 ] 
g) The smallest unit of which matter is made of :- ______________. 
h) The dead remains of plants and animals, rich in nutrients which are essential for  
       the growth of plants :- ______________. 
i) The vertical funnel-like opening in a volcano :- ______________. 
j) The mineral used for making portland cement :- ______________. 
k) The gap between two threads of a screw :- ______________. 
l) The rock made up of gravel, pebbles and stones cemented together by minerals :- ______________.  

 

P.T.O. 
 

 

 

 

 

 

 

 



9. Complete the series:          [ 1 x 5 = 5 ] 
 a) Mount Etna  :active volcano  : : __________ : dormant volcano 
 b) revolving chair : screw    : : axe   : __________ 
 c) Taj Mahal  : marble   : : Qutub Minar : __________ 
 d) hardest solid : diamond   : : softest solid  : __________  
 e) wood  : opaque   : : cellophane paper : __________ 
 
10. Fill in the blanks:          [ 1 x 6 = 6 ] 

a) __________ is a fossil fuel formed from compressed plant matter. 
b) One molecule of water contains two atoms of hydrogen and one atom of __________. 
c) A door knob is an example of  __________. 
d)  __________and _________ are substances that show the property of plasticity. 
e)  __________ is the outermost layer of the earth. 

 
11. Change the underlined words to correct the given statements :-    [ 1 x 5 = 5 ] 
 a) Obsidian is formed by the slow cooling of lava. 
 b) Air conditioners release harmful gases called helium. 
 c) Crater is the point deep below the earth’s surface from where the earthquake begins. 
 d) Carbon is used in making utensils and foils. 
 e) Floods occur due to shortage of rainfall. 
  
12. Write True or False:          [0.5 x 6 = 3 ] 

g) Oil has more density than water. 
h) The sun is the nearest celestial body to the earth. 
i) Aryabhatta was the space mission that first landed humans on the Moon. 
j) Sunflowers grow best in clayey soil. 
k) A bicycle is a simple machine. 
l) Translucent objects allow light to pass through them partially. 

13. Match the following:          [0.5 x 6 = 3 ] 

        Column A   Column B 

g) compost    tweezer 

h) emerald    electrical wires 

i) terrace farming   natural fertilizer 

j) first class lever   gemstone 

k) copper    pliers 

l) third class lever   hill slopes 

14. Draw and label:           

 a) The Solar Eclipse           [ 2 ] 

 b) Identify the kind of simple machine and label the guidelines :-                             [ 2 + 1 ] 

   

 

  

(i) 

 

(ii) 
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SECOND  SEMESTER ( SESSION-2019 – 20 ) 

          CLASS: – V                                                              DATE :- 24.02.2020 

          SUBJECT:- French                                                      M.M. :- 40 
 

1. Completez pars articles defini:                                                                       [0.5× 5=2.5] 
1) C’est _____________ livre de sameera. 
2) Tu est _____________ ami de rohan. 
3) C’est _____________ Tour Eiffel. 
4) Ce sont _____________ etudiants de france. 
5) Nous parle _____________ langue francais. 

2. Changez article defini au forme pluriel:                                                         [0.5×5=2.5] 
1) Une eleve- _____________  
2) Une copine- _____________  
3) Un oiseau- _____________  
4) Un homme- _____________  
5) Une fille- _____________  

3. Repondez cette question:                                                                                         [9M] 
1) Combien de jour dans une semaine. Ecrivez les noms.                (0.5×7=3.5) 
2) Combien de mois dans une semaine. Ecrivez les noms.              (0.25×12= 03)                     
3) Ecrivez cinq couleur en francais.                                                  (0.5×5=2.5) 

4. Ecrivez conjugaison les verbe donne:                                                                 [6×2=12] 
1) Aller 
2) Parler 
3) Chanter 
4) Regarder 
5) Ecouter 
6) Aimer  

5. Mettez les phrases en ordre.                                                                               [0.5×4=2] 
1) Samedi/est/demain/c’ 
2) Vont/ils/ecole/a. 
3) Piscine/il/vont/la/a. 
4) Nous/quelle/sommes/aujourd’hui/jour/?. 

6. Decrivez votre famille en 10 ligne.                                                                        [05M] 
7. Ecrivez nationalite de ces pays:                                                                             [07M] 

            PAYS                        MASCULINE                    FEMININE 

1) France                        _____________              _____________  
2) India                           _____________              _____________  
3) Italy                            _____________              _____________  
4) Japan                          _____________              _____________  
5) Spain                          _____________              _____________  
6) Algeria                       _____________              _____________  
7) Germany                    _____________              _____________  
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SECOND  SEMESTER ( SESSION-2019 – 20 ) 

          CLASS: – V                                                              DATE :- 24.02.2020 

          SUBJECT:- Spanish                                                      M.M. :- 40 

1. Contesta las preguntas siguientes :                                                           6 
a. Qué te gusta comer en el desayuno? 
b. Qué no te gusta comer en el almuerzo? 
c. Qué le gusta jugar en los deportes? 
d. Qué os gusta hablar? 
e. Qué les gusta comer en la cena? 
f. Qué no os gusta aprender? 

2. completa las frases con el verbo “gustar”                                                     4 
a. A ellas no les ___________ tomar el cafe. 
b. A él le __________ manzana. 
c. A mi me __________ las naranjas. 
d. A vosotros os ____________ las peras. 
e. A ellos no les _____________ la patata. 
f. A nosotros nos ________________ los libros. 
g. Te ______________ las tartas? 
h. A ella no le ______________ los pepinos 

3. Qué hora es ? Escribe en Español :                                                             3 
a. 4:30 PM 
b. 2:45 PM 
c. 12:50 AM 
d. 12:00 PM 
e. 9:15 AM 
f. 8:40 AM    

4. Escribe todo sobre tu familia en diez lineas como en el libro:                   5              
5. Contesta a las preguntas sobre tiempo                                                     5 

a. A qué hora escuchas la musica? 
b. Qué dias es hoy? 
c. A qué hora estudias español? 
d. Cuando es tu cumpleaños? 
e. Qué fecha es hoy?  

6. Escribe los meses según cada celebracion:                                                     5          
La Navidad, Holi, Diwali, Eid, tu cumpleaños 

7. Puedes presentarlos :                                                                                        3 
a. Rafael, cantante, colombiano 
b. Akshay kumar, actor, indio 
c. Rubi, profesora, boliviana. 

8. Describir un objeto en frases:                                                                          4                                                                                        
a. Un cuadrado (Amarillo) 
b. Un círculo  (rojo) 
c. Un rectángulo (rosa) 
d. Un triángulo (naranja) 

9. Escribe diez partes del cuerpo:                                                                        2 
10.  Escribe conjugacion de los verbos siguientes                                                3                 

Hablar, Tener, Vivir, Ser, Estar, Aprender 
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SECOND  SEMESTER ( SESSION-2019 – 20 ) 

          CLASS: – V                                                              DATE :- 24.02.2020 

          SUBJECT:- Japanese                                                      M.M. :- 40 

1. Write the meaning of the following words in English and make one sentence of each.                   (5) 

a) Ikura 
b) Irimasen 
c) Kaigan 
d) Kyoudai 
e) Chumon shimasu 

2. Read the paragraph and give the answer of following questions in Japanese (Romaji).                 (5) 

Watashi wa Suman desu. Watashi wa sensei desu. Watashi no kaisha no namae wa TCS desu. Watashi 
wa nomimono dewa chai ga suki desu. Tabemono dewa sakana ga suki desuga ringo wa suki dewa 
arimasen. Kyou wa Ranchi ni ikimasu. Watashi wa Ajay san to isshoni (Together) gakkou ni ikimasu. 
Watashi wa gakkou dewa eigo wo oshie ni ikimasu. 

a) Suman san wa dare to isshoni gakkou e ikimasu ka? 
b) Suman san wa nomimono dewa nani ga suki desu ka? 
c) Suman san wa tabemono dewa nani ga kirai desu ka? 
d) Suman san no kaisha no namae wa nan desu ka? 
e) Suman san wa nani wo shini gakkou e ikimasu ka? 

3. Write the Numbers from 1 to 10 in Japanese                                               (5) 
                            AND  
Write the Time from 1 o’clock to 12o’clock in Japanese (Romaji).   

4. Fill in the blanks with the below mentioned particles.                                                                      (10) 

               (WA, GA, WO, NI, NO, AND TO) 

a. Raja san ……………….ringo……………tabemasu. 
b. Watashi……………..gakkou ……………ikimasu. 
c. Anata…………….namae……………….nandesu ka? 
d. Amar San ……………banana…………….suki desuga, suika……………suki dewa arimasen. 
e. Amit san ………..ginkou……………. ikimasu. 
f. Nanji……………okimasuka? 
g. Anata………….. nannin kazoku desu ka? 
h. Anata…………..nani………….naritai desuka? 
i. Nani iro…………………suki desuka? 
j. Suupaa……………nani…………kaimasuka.  

5. *Read the following paragraph in English and translate it in Japanese (Romaji).                          (8)  

Today is Monday. I woke up at 6 o’clock. I had breakfast at 7 AM. I go to school at 8 AM. I like reading 
books. I want to become a teacher. My mother is also a teacher. My father is a doctor. I go to tours with 
my mother and father. I went to Italy. I am learning Japanese language. I want to go to Japan. 

6. Change the following verbs in polite form of verb.                                                                              (7) 

Verbs Polite form of verbs 
a) Iku  
b) Taberu  
c) Suru  
d) Chuumon suru  
e) Oyogu  
f) Yomu  
g) Kau  
h) Nomu  
i) Hashiru  
j) Kaeru  
k) Narau  
l) Okiru  
m) Neru  
n) Kaku  
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SECOND  SEMESTER ( SESSION-2019 – 20 ) 

          CLASS: – V                                                              DATE :- 24.02.2020 

          SUBJECT:- German                                                      M.M. :- 40 

1. Ergänzen die Tabelle!                                                                                                                            3 x 3 = 9 

 Sollen dürfen Werden 

Ich    

Du    

er/es/sie    

Wir    

Ihr    

Sie/sie    

2.  Bildet die richtige Sätze:-                                                                                                                     1 x 5 = 5 
a) Amaira/die hausaufgabe/ machen/ muss. 
b) Kann/ ich/ Deutsch/ sprechen. 
c) Kannst/ mir/ du/ helfen? 
d) Peter/ Wann/ muss/ das Buch/ Zurückbringen? 
e) Ihr/ warten/ Müsst. 
3. Kreuzt die richtige Antwort an!                                                                                                      0.5 x 10 = 5 

a) Wann gehst du _____________ Hause? ( ins/ nach/ zum) 

b) _____________ Spät ist es? ( wie lange/ wie/wann) 

c) Ich ____________ einen Hamburger essen. ( möchte/möchtest/ möchten) 

d) Der Unterricht dauert 2 ______________ von 9 uhr bis 11 uhr. ( stunden/ viertel/ uhr) 

e) ______________ Schwester ist Lehrerin. ( Meine/ meinen/ mein) 

f) Das Konzert ist _____________ 8 uhr ____________ 10 uhr. ( bis-zum/ von-zu/ von-bis) 

g) Peter _____________ nach Hause! ( gehen/ geh/ geht) 

h) Meine Eltern _____________ ein Großes Haus in Delhi. ( haben/ hat/ habt) 

i) Wir Fahren ____________ Sommer nach Nainital.( um/ im/ zum) 

j) Paula Kommt ___________ Freitag  nach Berlin. ( um/ zum/ am) 

4. Antwort die Fragen :-                                                                                                                            1 x 5 = 5 

1) Woher kommst du? 
2) Lernst du Englisch? 
3) Was ist dein Vater von Beruf? 
4) Fährst du nach Berlin in Juli? 
5) Wann beginnt die sommer ferien? 
 

 

 

 

 

 

P.T.O. 



5. Schreib die bestimmte Artikel:-                                                                                                    0.25 x 12 = 3 

a) _____________ Kinder 

b) _____________ Kaffee 

c) _____________ Schokolade 

d) _____________ Schule 

e) _____________ Stern 

f) _____________ Freunden 

g) _____________ Koffer 

h) _____________ Kamera 

i) _____________ Sonnerbrille 

j) _____________ Karten 

k) _____________ Strafzettel 

l) _____________ Buch 

6. Übersetzen in Englisch:-                                                                                                                       1 x 5 = 5 

1) Ist der Kuli teuer? 

2) Ist das Haus neu? 

3) Die Lampe ist Modern. 

4) Hier gibt es Parkverbot. 

5) Wir Sind in Deutschland. 

7. Übersetzen in Deutsch :-                                                                                                                       1 x 5 = 5 

1) He is a photographer. 

2) Yes, I am going to the house. 

3) I go to school everyday. 

4) My favourite game is Football. 

5) She is hungry. 

8. Schreib die Gegenteile :-  ( was past Zusammen )                                                                           0.5 x 6 = 3 

viel     billig 

langsam    alt 

lang     schnell 

jung     schlecht 

gut     kurz 

teur     Wenig 
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SECOND  SEMESTER ( SESSION-2019 – 20 ) 

          CLASS: – V                                                              DATE :- 24.02.2020 

          SUBJECT:- Sanskrit                                                      M.M. :- 40 
 

1½ fgUnh Hkk’kk esa vuqokn djsa &1½ fgUnh Hkk’kk esa vuqokn djsa &1½ fgUnh Hkk’kk esa vuqokn djsa &1½ fgUnh Hkk’kk esa vuqokn djsa &                                                [ 1 x 6 = 6 ] 

i) lk vtk vfLrA    iv) ,"k% d%\  

vtk pjfr A      ,"k% O;k?kz% A 

ii) ;w;e~ ds LFk \     v) ,rr~ iq"ie~ A 

o;e~ 'k'kdk% Le%A     iq"ie~ fodlfr A 

iii) ,rkS v'okS A     vi) ,rkfu i=kf.k A  

v'okS /kkor%A      i=kf.k irfUr A 

2½ dks"Bd esa fn, x, mfpr fØ;kin ls okD; iwjk djsa & 2½ dks"Bd esa fn, x, mfpr fØ;kin ls okD; iwjk djsa & 2½ dks"Bd esa fn, x, mfpr fØ;kin ls okD; iwjk djsa & 2½ dks"Bd esa fn, x, mfpr fØ;kin ls okD; iwjk djsa &                             [ 0.5 x 6 = 3 ] 

i) vge~ v/;kfidk ------------------------------------------------------ A ¼vfLr] vfLe] vfl½ 

ii) Roe~ Nk=% ------------------------------------------------------ A ¼vfLr] vfl] vfLe½   

iii) rs ckydk% ------------------------------------------------------ A ¼lfUr] LFk%] Le%½  

iv) vkoka lk;a ------------------------------------------------------ A ¼[ksyke%] [ksyr%] [ksyko%½ 

v) iou% ------------------------------------------------------ A ¼irfr] xPNfr] ogfr½ 

vi) ckykS ------------------------------------------------------ A ¼ØhMfr] ØhMr%] ØhMfUr½  

3½ eatw"kk esa fn, x, mfpr in }3½ eatw"kk esa fn, x, mfpr in }3½ eatw"kk esa fn, x, mfpr in }3½ eatw"kk esa fn, x, mfpr in }kjk ç'u dk fuekZ.k djsakjk ç'u dk fuekZ.k djsakjk ç'u dk fuekZ.k djsakjk ç'u dk fuekZ.k djsa    &&&&                                                                                                                                                        [ 0.5 x 4 = 2 ]    

       [ d%] dkS] ds ] 

i) fid% dwtfr A  ------------------------------------------------- dwtfr \ 

ii) 'kqdkS onr% A -------------------------------------------------  onr% \ 

iii) ,"k% v'o% A  ,"k% ------------------------------------------------- \ 

iv) ,rs flagk% A  ,rs  ------------------------------------------------- \ 

4½ mnkgj.k ds vuqlkj opu ifjorZu dhft,4½ mnkgj.k ds vuqlkj opu ifjorZu dhft,4½ mnkgj.k ds vuqlkj opu ifjorZu dhft,4½ mnkgj.k ds vuqlkj opu ifjorZu dhft,    &&&&                                        [ 1x 4 = 4 ]    

   ,dopua    f}opua     cgqopua 

mnkgj.ke~ &  v”o% /kkofrA   v”okS /kkor%A    v”ok% /kkofUrA 

i)  xt% pyfrA  ----------------------------------------------------A  ----------------------------------------------------------A 

ii)  “kqd% onfrA  ----------------------------------------------------A  ----------------------------------------------------------A 

5½ dks"Bd esa fn, x, funsZ'kkuqlkj opu cnfy, &               5½ dks"Bd esa fn, x, funsZ'kkuqlkj opu cnfy, &               5½ dks"Bd esa fn, x, funsZ'kkuqlkj opu cnfy, &               5½ dks"Bd esa fn, x, funsZ'kkuqlkj opu cnfy, &                                                                                                                                               [ 1 x 3 = 3 ]    

i) ,rr~ deye~ A ¼ cgqopus ½ & ------------------------------------------------------------------------------ 

ii) ,rkfu pØkf.k A ¼ ,dopus ½ & ------------------------------------------------------------------------------ 

iii) ,rr~ iqLrde~ A ¼ f}opus ½ & ------------------------------------------------------------------------------ 

 

 

P.T.O. 

    

    



6½ dks"Bd esa fn, x, mfpr in }kjk okD; iwjk djsa6½ dks"Bd esa fn, x, mfpr in }kjk okD; iwjk djsa6½ dks"Bd esa fn, x, mfpr in }kjk okD; iwjk djsa6½ dks"Bd esa fn, x, mfpr in }kjk okD; iwjk djsa    &&&&                                                                                                                                                                        [ 0.5 x 4 = 2 ]    

i) flagk% ------------------------------------------------------------ xtZfUr A ¼ e/kqje~ ] mPpS% ½ 

ii) v'okS ------------------------------------------------------------ /kkor% A ¼ rhoze~ ] e/kqje~ ½ 

iii) fid% ------------------------------------------------------------ dwtfr A ¼dFke~ ] e/kqje~ ½  

iv) xt% ------------------------------------------------------------  pyfr A ¼ rhoze~ ] 'kuS% 'kuS% ½ 

7½ fuEufyf[kr 'kCnksa ds laL7½ fuEufyf[kr 'kCnksa ds laL7½ fuEufyf[kr 'kCnksa ds laL7½ fuEufyf[kr 'kCnksa ds laL————r 'kCn fy[ksa & r 'kCn fy[ksa & r 'kCn fy[ksa & r 'kCn fy[ksa &                                                         [ 0.5 x 6 = 3 ]    

dey & ------------------------------------------------------------  lQsn & ---------------------------------------------------------- 

 ukjaxh & ------------------------------------------------------------  cUnj &  ---------------------------------------------------------- 

 cjxn & ----------------------------------------------------------  gkFkh & ---------------------------------------------------------- 

8½ dks"Bd esa fn, x, vadksa ds laL8½ dks"Bd esa fn, x, vadksa ds laL8½ dks"Bd esa fn, x, vadksa ds laL8½ dks"Bd esa fn, x, vadksa ds laL————r 'kCn ls fjä LFkku Hkjsa&   r 'kCn ls fjä LFkku Hkjsa&   r 'kCn ls fjä LFkku Hkjsa&   r 'kCn ls fjä LFkku Hkjsa&                                                                                                                                   [ 0.5 x 4 = 2 ]    

i) ------------------------------------------------------- ekyk irfr A ¼ 1 ½ 

ii) ------------------------------------------------------- i=kf.k irfUr A ¼ 9 ½ 

iii) ------------------------------------------------------- okuj% dwnfr A ¼ 1 ½ 

iv) ------------------------------------------------------- ckfydk% iBfUr A ¼ 5 ½ 

9½ dks"Bd ls mfpr fodYi pq9½ dks"Bd ls mfpr fodYi pq9½ dks"Bd ls mfpr fodYi pq9½ dks"Bd ls mfpr fodYi pqudj fjä LFkkuksa dh iwfrZ djs &udj fjä LFkkuksa dh iwfrZ djs &udj fjä LFkkuksa dh iwfrZ djs &udj fjä LFkkuksa dh iwfrZ djs &                                                                    [ 0.5 x 4 = 2  ]    

i) ------------------------------------------------------- efgyk%A ¼ =;% ] frlz%] =hf.k ½ 

ii) ------------------------------------------------------ pØkf.k A ¼ pRokj% ] prL=% ] pRokfj ½ 

iii) ------------------------------------------------------ unh ogfr A ¼ ,d%] ,dk] ,de~ ½ 

iv) ------------------------------------------------------ Qykfu lfUr A ¼ lIr] lIrkfu ½ 

10½ 'kCn:i fy[ksa                             10½ 'kCn:i fy[ksa                             10½ 'kCn:i fy[ksa                             10½ 'kCn:i fy[ksa                                                                     [ 2 x 2 = 4 ]                                                                                                                                                                            

i) Ckkyd% & iapeh] ‘k’Bh 

ii) yrk & "k"Bh] lIreh 

11½ /k11½ /k11½ /k11½ /kkrq:i fy[kas A     krq:i fy[kas A     krq:i fy[kas A     krq:i fy[kas A                                                         [ 3 x 3 = 9 ]    

ue~ & yV~ ydkj ¼ Present ½  

Hkw & y`V~ ydkj ¼ Future ½ 

ik & y³~ ydkj ¼ Past ½ 
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SECOND  SEMESTER ( SESSION-2019-20) 
           SUBJECT: General Knowledge                    DATE :- 17.02.2020 

           CLASS: – V Sec:-___________          M.O. :- _________ 

           Roll no.:-________                              F. M. :- 50 

   NAME:- ____________________________________________________________ 

I. Answer in one word:                      [ 1 x 10 = 10] 

1) Who wrote the book ‘ A House for Mr. Biswas' ?  

Ans:- _______________________________________________________________ 



2) In which country the world famous Petronas Twin Tower is situated?  

Ans:- _______________________________________________________________ 

3) For which book did Jhumpa Lahiri win the Pulitzer prize ?  

Ans:- _______________________________________________________________ 

4) Which is the world's longest bridge over water? 

Ans:- _______________________________________________________________ 

5) Which country has given statue of Liberty to USA? 

Ans:- _______________________________________________________________ 

6) Which bridge is also called as ‘Coathanger’ ?  

Ans:- _______________________________________________________________ 

7) Who is the author of the popular series ‘The Lord of the rings' ? 

Ans:- _______________________________________________________________ 

8) London is situated on which river? 

Ans:- _______________________________________________________________ 

9) In which country the pyramid at Chichen Itza is located? 

Ans:- _______________________________________________________________  

10) Which bank serves as the Central Bank of India?  

Ans:- _______________________________________________________________ 

 

 

 

 

 

 

 

 

II. Write True or false.                                                                                        [ 1 x 10 = 10] 

1) Madhya Pradesh has the highest tribal population in India.  ____________________ 

2) English is the most widely spoken language in the world.  ____________________ 

3) Satya Nadella became the CEO of Microsoft.      ____________________ 

4) Brooklyn Bridge is located in London.      ____________________ 

5) Alphabel INC is the parent company of Google.    ____________________ 

6) Sundar Pichai, CEO of Google Inc is an alumnus of IIT Kanpur. ____________________ 

7) Rabindra Nath Tagore was awarded Nobel Prize in Literature in 1913. __________________ 

8) Machu Picchu is a site of ancient ruins located in China. ____________________ 

9) ‘If you tell the truth, you don't have to remember anything' is said by Mark Twain.  

          ____________________ 



10) ‘Life is what happens while you are busy making other plans' is said by Swami   
         Vivekananda.                ____________________ 

III. Fill in the blanks :-                   [ 1 x 5 = 5 ] 

1) ___________________ is the world’s tallest brick Minar.  

2) ___________________ is called as scientific study of Language.  

3) ___________________ is the capital of Avanti. 

4) For heart problem, we should consult ___________________________. 

5) _______________________________is the tallest structure ever built by humans. 

IV. Match the followings (Books and Authors) :-      [ 1 x 5 = 5 ] 

  Books              Authors 

1)The Immortals of Meluna     a) Ruskin Bond  

2) The palace of Illusions     b) R. K. Narayan  

3) The Room on the roof      c) Chitra Banerjee  

4) The Shadow lines      d) Amish Tripathi  

5) Malgudi Days       c) Amitav Ghosh 

V. Unscramble the words: -                                                                                  [ 1 x 5 = 5 ] 

1) She became the youngest and first woman СЕО of IСIСІ Вank. (CANADH RАKHHOC) 

         _______________________________ 

2) “Christ the Redeemer” is located in this country. (ZIBRAL)  __________________________ 

3) This city has been referred to as Gopa Parvat, Gopagiri and Gopadiri. (GORILAW) 

         _______________________________  

4) Mumtaz Mahal died in this city. (BHARNUPUR) _______________________________ 

5) Lata Mangeshkar was born in this city. (DORIEN) _______________________________ 
 

 

 

 

 

 

 

 

 

VI. Choose the correct option -          [ 1 x 5 = 5 ] 

1) Great Stupa of Sanchi is located in which state  

a)  UP   b) Maharashtra   c) MP   d) Himachal Pradesh  

2) Kandariya Mahadev Temple is located in which state?  

a) Karnataka  b) Tamil Nadu   c) Madhya Pradesh  d) Telangana 

3) Garima’s kidney are not functioning well, she should consult-  

a) Cardiologist  b) nephrologist   c) Endocrinologist  d) Pediatrician 

4) Karan is having a headache. He should consult- 

 a) geriatrician  b) neurologist   c) gynecologist   d) gastroenterologist.  

5) Bhimbetka Rock Shelters is located in which state?  

a) UP    b) Odisha    c) Rajasthan  d) MP 



VII. Current Affairs:           [ 1 x 5 = 5 ] 

1) Which state Government has started a project to save paper by using digital medium   
             for administrative work?  

a) Odisha   b) Maharashtra   c) West Bengal   d) Telangana  

2) In which state the highest railway bridge of the world is to be constructed?  

a) Himachal Pradesh       b) Jammu & Kashmir      c) Uttarakhand    d) Sikkim 

3) Which state is the worst place for women's security according to the recent National     

     Crime Record Bureau report? 

 a) West Bengal   b)UP     c) Bihar   d) Jharkhand 

4) Who has participated in the interaction program with students named ‘Pariksha pe  
              Charcha’ scheduled in the year 2020? 

 a) Venkaiah Naidu   b) Narendra Modi   c) Amit Shah  d) K. Sivan  

5) Who was the Chief Guest of the India’s 71st Republic Day Celebrations?  

a) Vladimir Putin     b) Donald Trump     c) Jair Messias Bolsonaro  d) Angela Merkel 

VIII. Choose the correct option -              [ 1 x 5 = 5 ] 

1) On which day, National Sports day is celebrated in India ? 

a) 15th August  b) 29th August c) 15th  September  d) 29th September 

2) How many times has India won the Cricket World Cup ? 

a) 1 time   b) 2 times  c) 3 times   d) never 

3) How many substitutes are allowed in basketball ? 

a) 5   b) 6   c) 7    d)  8 

4) Arjuna award is given for outstanding contribution in the field of ___ 

a) cinema  b) journalism c) science   d) sports 

5) _____________ is the meditative asana. 

a) padmasana  b)  tadasana  c)  trikonasana d)  naukasna 
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Q1 . Choose the correct option :        [ 0.5 x 5 = 2.5] 
a) Which combination keys is used to maximize the screen of Qbasic ? 

i) Alt +Enter  ii) F1   iii) Ctrl + P   iv)Shift + F1  

b) Which operator divides two number and returns the remainder ? 

i) +   ii) -    iii) MOD   iv ) *   

c) Which screen consists of 80 columns and 24 rows ? 

i) Screen 1  ii) Screen 0   iii) Textual Screen    iv) Graphics Screen  

d) Which option is used to change the color of the screen ? 



i) Run    ii) File 

e) Which option is used to reload the opened web page ?

i) History    

Q2) Fill in the blanks :- 

a) In Qbasic  Color2 stands for ____

b) Screen 2 is __________________

c) Algorithm is written in ______

d) WWW was developed by ___

e) ___________________ is the extension of 

Q3) Match the columns :

a) Exponent  

b) To execute a program 

c) Home  

d) Favourite  
 

Q4) Write examples of these :

a) ISP -     ________________  ,

b) Search Engine - __________

Q5) Write short notes on 

a) WWW -  _______________________________________________________

                __________________________________________

b) Net surfing -  ________________________________

                ____________________________________________________

Q6)  Differentiate between :

a) Graphical Command and Screen Command 

  

 
 
 
 
 
 

b) Cls and End  

 

ii) File    iii) Display 

hich option is used to reload the opened web page ? 

  ii) Home    

      

olor2 stands for _____________________ color.

__________________ resolution graphics mode.

Algorithm is written in ______________________ language.

d) WWW was developed by __________________. 

__ is the extension of  a filename in QBASIC .

Q3) Match the columns :-     

 

Q4) Write examples of these :-    

________________  ,  ____________________

_________________   ,  ______________

on :-     

_______________________________________________________

__________________________________________

_______________________________________________________

____________________________________________________

Differentiate between :-      

a) Graphical Command and Screen Command  

 

 

 

  iv) Edit  

iii) Tab iv) Refresh   

     [ 0.5 x 5 = 2.5]

_______ color. 

___ resolution graphics mode. 

________ language. 

filename in QBASIC . 

   [0.5 x 4 = 2] 

i) 
 

 

ii) ^  
iii) 

 
 

iv) Shift + F5  

   [2 x 2 = 4] 

____________________ 

____________________ 

   [ 2 x 2 = 4] 

________________________________________________________________

__________________________________________________________________

_____________________________

__________________________________________________________________

   [ 2 x 2 = 4] 

[ 0.5 x 5 = 2.5] 

 

_________ 

________________________ 

______ 

______________ 



 
 
 
 
 
 

 

Q7) Write full forms of the following.       [1 x 3 = 3] 

a) WI – FI -  ______________________________________ 

b) ISP -  ______________________________________ 

c) BSNL -  _______________________________________ 

Q8) Answer the following questions :-      [ 2 x 3 = 6] 

a) What are pixels ? 

_____________________________________________________________________________

_______________________________________________________________________ 

b) What is an algorithm ? 

_____________________________________________________________________________

_______________________________________________________________________ 

c) What is netiquette ? 

_____________________________________________________________________________

_______________________________________________________________________ 

Q9) Write a program to draw the following figure :-          [ 2 ] 

 
a) 

 

 
 

 

 

 


